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I
Exercise 1. better 2. beautiful 3. resemble 4. satisfy 5. come
6. bad 7. carefully 8. approached 9.to 10. me
Practice Test 1.(a 2.(c) 3.(b) 4.(d 5.(c) 6.(d 7.(@ 8.(c)
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Practice Test

[Part 1]
1 A: Are you watching the lunar eclipse tonight?
B: Of course. That is something that

(a) rarely occurs

(b) rarely occurs it
(c) rarely is occurred
(d) is rarely occurred

A: For dinner, | made wheat pasta with
tomato basil sauce.

B: That !

(a) is sounded delicious
(b) is sounded deliciously
(c) sounds delicious

(d) sounds deliciously

3

A: Dad, can | attend an English camp this
summer?
B:

| have to your mother first.

(a) discuss it
(b) discuss it with
ATACD  Answer key
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(c) discuss about it
(d) discuss about it with

[Part ]
4

It was my sister’s birthday, so | made a cake

(a) her
(c) to her

(b) of her

5 It is normal for skin to when it's
out of the sun.
(a) change pale (b) change palely
(d) turn palely
6
The school a laptop and a
portable hard drive.
(a) gave to me with
(b) gave me with
(c) provided me
[Part Il
7
(b) B: | left them beside the television.
(c) A: They're not there now.
(d) B: Maybe your brother put them
somewhere.
[Part V]
8

(a) Many people raise plants inside their
homes. (b) The plants don't always grow well

indoors, and they should be tended with care.

(d) Most plants must be placed near a sunny
window or under a special light.
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I
Exercise 1. is eating 2. doesn't eat 3. am trying 4. have lived 5. had bought
6. were having 7. arrived 8. didn’t know 9. hates 10. had been waiting
Practice Test 1.(a 2.(c) 3.(b) 4.(c) 5.(d) 6.(b) 7.(d) 8. (a)

N
i

|

I}

= 0
1o

Practice Test

[Part 1]
1 A: Do you know when John will arrive at
work?
B: He here at 9 am.

(a) usually comes

(b) is usually coming
(c) will come usually
(d) have usually come

2

A: How long in Korea?

B: For about six years.

(a) are you lived

(b) are you living

(c) have you lived

(d) have you been lived

3

A: Are you an undergraduate at this
university?

B: No, | just two years ago.

(a) graduate

(b) graduated

(c) have graduated
(d) had graduated
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[Part 1]
4

When | realized Tim
upset and angry.

to me, | felt

(a) will lie
(b) has lied

(d) will have lied

The wine tasting event
arrived at the park.

when we

(a) still took place
(b) is still taking place
(c) has still taken place

My teacher said that the Great Fire of London
in 1666.

(a) happens

(c) was happening
(d) have happened

[Part Il
7 (a) A: John, you look thin!
(b) B: Yeah, | started a new diet, and it is
working very well.
(c) A: What kind of diet are you on?

[Part V]
8

(b) When | finally
saw the ancient Roman city, | was very
impressed. (c) Archaeologists have done a
wonderful job uncovering the site, which was
buried by volcanic ash centuries ago. (d) This
ash had helped preserve the city and its
artifacts until they were rediscovered in the
18" century.
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DAY
I
Exercise 1.is 2. are 3. are 4.is 5. has been
6. Do 7.is 8. seem 9. was 10.is
Practice Test 1. (d) 2. (a) 3. (c) 4. (b) 5. (a) 6. (d) 7. (b) 8. (c)
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[Part 1]
1 A: Why Jim and Alex late this A: 25 OFE0] Jimzt Alex7t off =A0{?
morning? B: st HAS SHMA Stw7iX| ZoiRiH,
B: They missed the school bus and walked to [5141] 017} Jim and Alex2 240|102 AP} 2ot 510, 95 ofxo)
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(d) Were the measles
3

A outside our house again.
B: | betit's because of our neighbors and
their loud music.

(a) The police is
(b) The police was
(c) The police are
(d) The polices are

A144  Answer key
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[Part 1]

4 Traveling to third world countries
possibly dangerous, because some poor
countries have high crime rates.
(a) are
(c) have
(d) has

5
Every student and teacher a
vaccination to protect against hepatitis.
(b) are given
(c) have to be given
(d) were given

6 L
A number of that it is dangerous
to treat minor infections with antibiotics.
(a) doctor feels
(b) doctor feel
(c) doctors feels

[Part Il

7 .
(a) A: Have you seen my socks?
(c) A: Right, I left them there while | took a

shower.
(d) B: You know, you have a terrible memory.
[Part V]
8

(a) Most of the children who participate in
physical activities think it is a fun hobby. (b)
But in fact, physical activity can also help a
child’s intellectual development.

(d) This makes it
easier for students to pay attention in class
and remember what they learn.
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Exercise 1. have to
5. had better not

9. must have lost

Practice Test 1. (c) 2. (b) 3.(a) 4. (b)
Exercise )f--------------------------
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4 Ky E2 EAS Fofe dX ofolsioF St
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Practice Test

[Part 1]
1 A: | can't believe how much homework the
professor gave us today.
B: Yeah; we
because it's going to be a long night.

(a) might
(c) should

(b) could
(d) would

2 A: Are you going to Sam'’s birthday party?
B: Yeah, but you pick me up
and take me there?
(a) may (b) can
(c) should (d) have
3 A: I'm surprised Mr. Kim didn’t show up for
work today.
B: He be sick, because he

rarely misses a day of work.

(a) must
(c) have to

(b) should
(d) cannot

AT4AE  Answer key

2. may have seen
6. shouldn’t have called

start studying now,

3. don't have to 4. should

7. must 8. may be wrong

10. may have left

5.(d) 6.(c) 7.(c) 8.(b)
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[Part 1]
4

You be careful when using
matches to start a campfire.

(a) will

(c) might
(d) could

Customers paying with a gift card
wait in line.

(a) must not
(b) should not
(c) had better not

He that it would bother him so
much in the long run.

(a) cannot realize
(b) must not realize

(d) should not have realized

[Part 1ll]
7

(a) A: What's wrong, Veronica?
(b) B: | got another failing grade in math
class.

(d) B: I'll remember to ask you for help next
time.

[Part IV]
8

(a) Our school has a special dress code.

(c) Female
students must wear a grey skirt with a white
blouse and a blue jacket. (d) The school will
have students expelled if they disobey this
dress code.
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1. invited
6. was given to

Exercise 2. be kept

7. Hachi
10. was not satisfied

Practice Test 1. (d) 2. (d) 3. (b) 4. (c)

Exercise )}--------------------oooo--
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Practice Test

[Part 1]

1 A: I'm not sure if | should buy a new car yet.

B: Well, prices to increase next
month, so you should buy it soon.

(a) expect
(b) expected
(c) are expecting
(d) are expected

2 _ . .
A: Why is everyone so polite to your father?
B: My father is a policeman, so he is

the citizens of our city.

(a) looked by
(b) looked up by
(c) looked up to
(d) looked up to by

3

A: Kevin me crazy all week!
B: What's the matter? | thought he was a
friend of yours.

(a) drives

(b) has driven

(c) was driven

(d) had been driven

AT48  Answer key

3.to
8. have to be done

4. for 5. crowded

9. was dressed in

5.(d) 6.() 7.(8 8(d
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[Part 1]

4 More than 20 percent of the world’s oxygen
in the Amazon rainforest.

(a) produce
(b) produces
(d) are produced

5 .
Canada three territories and ten
provinces.
(a) composes
(b) is composed
(c) composed of

6 .
The students to stand against the
wall as punishment for low test scores.
(a) tell
(c) were telling
(d) had been telling

[Part Il

7

(b) B: Yes; | was so happy | finally got the
chance to meet your family.
(c) A: So you meet my daughter?
(d) B: Yes, and she resembles your wife.
[Part V]
8

(a) When deciding what university to attend,
you should consider more than just
academics. (b) A student’s life at a university
is not just homework and note taking. (c) It
also involves making friends, experiencing
new surroundings, and developing
independence.
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0, M2 etds ot Eot XRde 7|12 Ae UtEiuch (d) ol

(d)2] All these thingsE @ 20N AZst chst Z™Al DN
Of st= 2SS 7t2l7|0, 12{=|0fof Bt = £5&Q! should be
taken into consideration@2 Mo LSirt,

involve +-gHmatsict

surroundings 24 independence =

[XI2]&) take something into consideration ~& 12{[ &5t
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[Part 1]
/l

. (b) 2. (a) 3. (b) 4. (c) 5. (a)
. (d) 12. (b) 13. (d) 14. (c) 15. (d)
A: The sand feels so between

my toes.
B: Yeah; and | love the smell of the ocean.

(a) softly

(c) softer
(d) soften

A: s this book yours?

B: No, it to John.

(b) is belonging
(c) is belonged
(d) has belonged

A: Where is your car?
B: 1

(a) take

(c) is taking
(d) will take

A: What do you think of your new job?
B: a couple of days, but so far,
so good.

(a) 1 only work
(b) 1 only worked

(d) I'd only worked

A: Why a baseball or soccer
club?

B: That's probably because | hated team
games.

(b) didn’t you join to
(c) weren't you joined
(d) weren't you joined to

Answer key

it to the mechanic for repairs.

p.196

6. (b) 7.(8  8.(d) 9.(c) 10.(d)
16. (b)
A: 712t Afolo] @3 ZE0| LR Beaig

B: oo}, 121 it LS Zof.

feel2 Floll FEA 20 Fol ~ol LAXICY o o= Molnt,
YEE (). (@)= FA0ISZ 2071 & + glom, Hmo| thyo] ¢
©02 (o= HHEsIX| ¢ ()2 soften2 PEE siCf 2f= &£
of SAZ Al 207t E 4 gict
toe Wizt soften F=& it

A: Of & U AHof?

B: Ofu, Johne| Zio[of.
belong2 HXIAL to2t 7 M0f ~Of A0[Cf, ~0f &sitf 2ls &

of ISAZM 25
Mx| gict U8

BHE & 4 2H, YESA0|IEZ Zdgezr:
Y SiAHel Lol22 (a)7t THY LS,

belong to ~2| Z[AR]o|ct ~0of &aict

A: Ul & oft] Uo7
B: 2o FHIARRIH 2701

LHEY 0lo] FHISoIA A5 27! JEH0I22 IHAKE MA EH
St 0| HEsitt HE2 (o).

mechanic FHIAL 213

Ar A L2 ofmf?

B: OIS0l LSHA| LUK, XIS7X|= OF Z0F.
so far2 XIS7IKI= Ol2k= <lojolnf, IAHRE FHAHZEX| 0|0iX|=

7Rtg UEIU0] 2 xit=et el Meltt FER (o).

so far, so good X@7txl= ECf{eAE]

A: OFRLE ST SRI0f of 7j22 O Fof?
B 2 ZOkHR| YAE.

Jom_ JtJsict ek S£of EtsAIR K*XW 0] X017t HiZ2 2
Ch et (o)2t (d)e= EolM Xel=m, et %OI SR RN =
%M doE Mo st22 didn’t you join0| ¥

join 7fesict



6 A: Whom

B: My wife accompanied me to the
performance.

you take to the opera?

(a) do

(c) had
(d) will

[Part ]
7 .
Over 70 percent of the city
destroyed by the earthquake and fire.

(b) were
(c) has
(d) have

It is believed that the ship
somewhere near Bermuda.

(a) locates
(b) located
(c) is locating

First-year students must live in the
dormitories, but the rest of the students
to live off-campus.

(a) permit

(b) permits

(d) is permitted

10

Your husband
because he couldn’t stop smiling.

happy to see you,

(a) must be
(b) should be

(d) should have been

11

My boss for the weekend when |
called him for the emergency meeting.

(a) will leave
(b) is leaving
(c) has left

A: 2m2ioll =75 HHZU0?
B: Ui 2A0[Zf 27| 2404,

SHE o2 29| o3t L8022 W AM=Z 2= 20| HEsit
g2 b).
accompany =&t
1 =A9] 70HAE 0 40] XIETF a2 Tl A,
F0lofl FES UE= 20| 2 &2 of Foil 2= FAL| 20 EE%E%
SAE ZHELD the citye ©4:0(0, ZAZE ofalE 20|22 4=
)7t

Eli(be p.p.)7t Elofof Sict HEH2 (a
destroy mtujstct

T HiE MR 22X 070 AUz Hez o AR,

locate= ‘IXIE ~2 HolCh 2k= o] EFSAIR
2ZEfSIQ1 be located2 LIEFMCE A
|ofof gict

locate ¢IxIE

~0f

~2 Holct

Lol

7[=5AL0IA A0toF SEAIRE THE

permite= SI&SICH 2| S20[0H, Of7|A 00! Sts2
aff) 51712 = thaol=z
of the students2 E40|22 are permitted 7t HE.

dormitory 7IsAt permit 51&siCt  off-campus m2(of A

0

2
rg
H

= Higtoz Xéé}f ueolzz
| A ZEAAIHIZE M

o, B4 =
& Sich 2P O T 248 252 must ave pp.2
2 pS

Wt 21z
ot

2[9| w20l HAfIA =

Haig o 2= Y

TN Lot Lol
JERS

|0

o™ 1A AEE 7|17z aHCh
p.p.)E &Ch HsE e
f

H3iC

o[o| Mt

emergency meeting 7/2{B[4] /9]

=M - Review Test1 A

SOt 2 BLI U HES 1S 21 7I#S0 S

Axlett =

817t = is located 7}

o=

S22 w0l A5

+SEH2 MoF LYCH 017t the rest

A2 (had
2 had left7t &
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| that | can watch the opera

rehearsal if | promise not to make any noise.

(a) told

(c) being told
(d) have been telling

[Part Ill]
13 (a) A: Did you finish decorating for the party
tonight?
(b) B: Yes. Now | have to get all the food
prepared.

(c) A: | can help you with that.

14 (a) A: Have you picked your classes for the
fall semester?
(b) B: No. We have lots of time to register for
classes.
(d) B: Maybe you're right.
[Part V]
15

get their names. (b) In North America, each
hurricane is referred to by a name, such as

‘Jeff’ or ‘Sarah.’ (c) A list of names is chosen
by a group of meteorologists before the start

of hurricane season.

A Answer key

Q

CEORCES
W > W >

(o}

(a) Many people often wonder how hurricanes

re rlo j'II'

M22 ZS?0itt 2 2200 0150] 20X, 22 252 &
275 AT,

UE O

o

L W7F Ofd ASE WX] Q0D of&5HH 1 Qmet 2lsids & 4 AU

El’L = AA[‘}

that 0[5t2] LIS F01Q1 17} E2 LHB0|22 BIZtl= telle +&
ol <fo st HE2 (o).

o-di
rehearsal 25|14 £%& make a noise HSCt

2

s e YAlsks A 2WiU?

: 3. Oldl 34| ZHIZ slof 5l

D U7F E9fE 4 O,

;AL WoF S0Pl ChARE S2F o ZAF AR & HAZE?

SULA FAVIE REBIAL 2FE molli= ZSAt can/ could
/will/would 5 MAl =Lt (d)ollA ZSAt should= ~8HioF 5t
E]

decorate &4ttt would you mind -ing ~siE2ie? peel &
Ag w7\ zict

AN
1o
o
N
=3
fn
fjo
4
1]
1

FH01?
bl

OFEl A
I EEES

o
il
&

might have p.p.& ~0IUSK|E ZECH 2=
thet =2 LIEHD, SIXi = 020l et S=te F52 (may
/might +SAFEE) 22 LIEIHTE O S52 5K Y2
()2 might have been2 might be2 MO} 23Tt
pick m=2c} Medsict  register (for) S25ict sign up S2aict

(@) 2 AIZE0| 5i2l7119] 0|50] ofEA ¢7I=X] S3aleict. (b) Salol
M, sl2I7lI210] JeffLt Saraht 22 0IS22 £2/017Itt (o) 01§54 =
Si2I7AI21 AIZO| AEEl7] Mol 7lgStRtS0l sk MEECE (d) 2 A

(d)oll A each new storm2 gives®| FA|7} OtL2} 0|20| 20X
yol22 582l is given22 MOF STt givelt 20| SX04
S 2 Floks +0SAe 42 SSHIZ U0 SAF Fo =={0f
7t g & UACEE SSHZE =S| RS Folhof Btk

refer to A as B A= B2t 220t meteorologist 7[&3xt
throughout ~s2t =, Uil identify 22{Asict



16

(a) Please be advised that, beginning next (@) Ot aP7IE AEfSl7| Tof, 2E tieteidse S Yz +¢8 sl
semester, all graduate students will be OF 8 S aX[GIFAI7| BIFULCE (b) tHeloME S7Sl0| L2 AgM 0jy
required to take an introductory statistics OIlM QTEIOX|7] R0| 0] 22 AHS UBSLICE (c) 22l SHSH 4
course. (b) The university made this decision S E= SMS0| 59| ey aiof| o & ChH|E 2oz J|HEtlct, (d)
because statistics are needed in many senior = 0] 22 &0 Z=20| StAIZ 2olHpEL|ct
level courses. (c) We hope students who take ~ - o o o = . =
a statistics course will be better prepared for i St?tIStIC,S(EﬁlgD: o BUAR! SEE Jlel7is B B A
. ) ook Bt w2t (b)9] because”t 0|11= HO| 04 statistics
their graduate studies. (d) If you have any .
guestions about the new policy, please Oliimare A Er#,%MOl\_ISE o 25, ?lulg A
contact the registrar’s office. ; @ 8RB ME ST wiges av O‘OEE_ §g‘6m. _
[012]] semester st7| graduate student CHist® S require 275t
(are — is) o == st introductory Y2of A70|  statistics S5t
senior 43itA9| AZdo| policy HH  registrar’s office StAlnt
o
Exercise 1. could beat 2. had put 3. Had 4. were 5. be
6. be given 7.would youdo 8. would be 9. had had 10. were
Practice Test 1. (c) 2. (d) 3. (a) 4. (c) 5. (a) 6. (d) 7. (b) 8. (b)
------------------------------------------------------------------
1 oA 7187F FOITICHA ERE Ao M-S 012+~ US 6 2E S0l tist Tistel 7137t FOIX|= A2 HaeH
Zo|ct, olct.
2 o Ht O 11U|E ETO| 'HoIFAUT2IH &SR] 2Rk 7 37t HollA Mgetttn Zetttn ZhgshE) of g 2
2 7{0k oF?
3 U 315 SHe XIF Ui o =8 Aok 8 I X UE 2 U AntH HE XfZA2ig] ok
4 Bill2 OFR| GXIQI 2K LEiCh 9 LollAl Alzto] JAACHH HE =RES Mok
5  Smith Mz 67t Ot @fs|ofl mElojof Stotn = 10 4Pt XIg of7| Aok ZSHid|,
ACk
Practice Test p-201
[Part 1]
1 A: | just saw a man trying to break into my A gig ol gxt el ol stzls 2 £of
house. B: U7} i, ZEol Mag7ok
B: Ifl you, | would call the ) 5 aal , -
; [CH] g3 o 2245 ol thsil L7t L2t olztn 7hdsts LigolH
police. x| ZEA wouldE S8l B0l st JPHIS Y 4 U 71
(a) be Y AHOIME ifE0 DY SAE MOE S22 wereZt HE.
(b) am [012]] break into Zlesict
(c) were
(d) had been
Zm -Day6 A153
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A: | can't believe the salesman sold me a

broken computer.

B: If you had taken me to the store with you,

that .

(a) doesn’t happen
(b) won't happen
(c) wouldn’t happen

A: Isn't Karl older than you?
B: Yeah, but he looks
only fifteen or sixteen.

(b) even if
(c) unless
(d) as

[Part II]

4 Without his help, the school

he were

have

made so much progress in such a short time.

(a) can't
(b) shouldn’t

(d) mustn’t

you were in town, we would have

invited you to dinner.

(b) Have we known
(c) We could’ve known
(d) We knew

I wish | for that job when | had

the opportunity.

(a) apply
(b) will apply
(c) have applied

A Answer key

A 2 TOHR0] LB 21 HREIZ BUCL B 471 0]
B: AE0| LIZ Cl2f2tCHe 13 22 UoiLbx| S 7ot

ifA0ll TAZAIXI(had taken)7t 204 oA Abdofl CHSt 7H-US
o 4 ACk JHEY IARR0ME FE0| (RSAIS] Tt +have
p.p.)7t 2tof ot22 ()7t HE.

broken Y7zl 247

A: Karl0| HELC} Lto[7F ©X| §4L?

B: § 20l d= OFX| 15&0[L 1642 ZxZ Ho,

AAE O=EX] oLt DR ~Ql JHME 0l2ks 2 as ifLf as
thoughS MAM LIEFHTE O] mf AMHO[ OH Zdofl thall 71-gsh= U
E0|E2 as if[though]7t 0lnE ZE2 7FEY AIMIE Atgsiof o

FOIGHAL,

ne
2]

70| =20| YUCetH, 1 stuw= I A2 AlZE Lol 22| Bol

without2 7FJRIOIAM if2 THAl MU 4 U=, K7IM= BIZE Fof
have p.p. SEi7F MOIM 7HEE T42lE 28YS & + AT 718
BloflM= R0l ZSAS BAR0| 0, WE A wo] 2

Zdolct 2tz 20122 couldn’t7t MAGiC

_I

et

2 o

1o

HiZE SHol UUCHE Z LAEZHH M MMl ZCH3S 7H0F

T (ZSA 3A

7HgE UEti=s 7td

have p.p.)7t A¥oo2 I ApAol| Cist

fri@tm 2H0[0, mhetM ifEol= had

p.p. EN7H ok it JHEE RHEOIA ifZoll were, had p.p.7t &

Ql B2 ifS Mefstl :0i2t SAE EXg 4 UASBZE HiZil=
e

Had we known (= If we had known)0| ST},

F +
B

ArATE BiiEl= AYS LERE of | wish CHS0Hl 7Y AIMIS MA
Sk U84 T4 Atdoll Btoisle AZ0IEE 7Y aAR=
= MA had applied2 Mo} 2gict,

apply (for) xigatct



[Part Il

7 (@) A: Which bag should | buy, the red one or  (a) A: O 7|22 AjoF &t77}? ZHA OfL T Z{7Al?
the black one? (b) B: Lti= A™MS AZ0f
(b) B: I will buy the black one. (c) A: 13 HxE a7 AMK| 2224?
(c) A: Why don't you buy it for yourself, then?  (d) B: 22{12 AX[2t =0] i
(d) B: Twish | could, but 'm on atight budget. .\ 51w 212 ajor 2z 22 B2l “Liaie(f 1 were you) 2%
(will = would) MS ALY 2t Heb= LHE0ICH 719 ME2 Wxstn Qoo
FEY AIRIE MA LEERD, X ARdof Cfet 7hgol22 will2
wouldZ AOF AZEsiCt
[0=]] on a tight budget =0| gt=
[Part IV]

8 (a) There has been a lot of debate over school  (a) St UHol| et S =HS0| AUOIATE (b) £ SOF BASS K= ¢t
schedules. (b) For many years, teachers have  3to| 9i0foF StCtn FEGHRICEH (€) THH0l= SHMS0| 7159 5% U2 7|
insisted that there is no summer vacation. (€) @[l 012{3t ZI 6= 50| WRFUCE (d) XSS WRE| SIS0 ZA]
In the past, this long summer break was A7) IR0, TASES 0[2{5t 71 YIEte o Bm RS distoz CiF|/ojof o
needed so that students could help their Chol Aztstct

families with farm work. (d) Now that most
students live in the city, teachers believe
these long breaks should be replaced with
shorter, more frequent breaks.

Bl =g Mol g8, 27 52 UEis SAF Flol thatZo] 2 &%
that®o| SAl= ¥&S M&stH ‘~affoF SiCf et= ojn|= siAlSH
Ch. m2tM ()9l insisted(FEBICH7E 0|0 thatEo| SAkE is7t
Ofd be2 TAMOF YSICH

(is — be) [0/2]] debate =3 =2t argue =3It now that ~0|22 (= now

because) replace A with B AS B2 titlsict  frequent XI5 &

ojLt= 7Hz0| Be

=, AVl e

H
_I_Iél A|'
Exercise 1. to spend 2. to be involved 3. to sit on 4. to see 5. of
6. of her 7. for you to believe 8. to study 9. to have lost 10. want to be treated

Practice Test 1. (b) 2.(c) 3.(a) 4. (a) 5. () 6. (d) 7. (c) 8. (c)

1 22= 3 odol 2502 E=E £ Ae=z oflysitt 6 2 ¥E =2 7IFeitd Jds & elyo] 7L
2 =573 griol eI Rt 7 U7t sls 22 U] ofEtks A ot

3 =Rel= o2 9xpt o Bol Zesich 8 1= stz 36| Ll ol=oll Ak

4 g2 oo Anol J[ERIAES & VIEE il g AYu 8 Susan2 0| & X ZAXY L2elck

S TS Yeltiy He & gdsiL: 10 I AE2 2% oigea AX| lCh

sm -pDay7 A155



[Part ]
ll

A: Did you buy a new car?
B: No. The bank refused
to buy one.

a loan

(a) for me to give

(c) giving me
(d) having given me

A: Did you notice Chris talking on his phone
during your piano recital?

B: | pretended , but it was very
distracting.

(a) not noticing
(b) to notice not

(d) to not notice

3

A: Wow, Jenny. You look beautiful in that
dress.
B: Thanks! It's very kind So.

(b) of you saying
(c) for you to say
(d) for you saying

[Part II]
4

| seem
you lunch today.

my wallet, so | can’t buy

(b) to forgetting
(c) to be forgetting
(d) to forgot

Applicants must submit all required
documents by the end of this month
for financial aid.

(a) considering
(b) to consider

(d) be considered

A Answer key

p.205

A: LA R 07

B: Ot 2&0lM Xt

A: ChrisZt 4| mlofe ™A

st

ol.

Ab=dl tE2 ef ol

refuse= O HAE SENZE 2= SAOIH, LIEA ‘Lo izl
= A(to give me a loan)S HESICY 2H= 20| 0{of Staz (D)
7t it (a)9 2 met givel 2Ol 07t EOf L7t tHE
SHFCH 2t S20] =22 3IX] fict

refuse 7Z5icH

loan &)

20l M Hat Sakst AUs A LU

B: & 26kl XL, HZ TS| oA T0L.

A: 2 Jenny. 1 EA Qe
B: 22

pretendes ~Q! HBICY 2le S22 toRHME SHNZ = SA
0lC}, toF &Sl BEE toRFAL 0l nots & et
STt & pretend not to notice 7t LCt

notice 2otxi2Ict pretend ~¢! Misict  distracting (£2I5) Aot

5P| sk, 2fekil sk

L7t E2 OFSCH,
ok,

Lt Y

o elojael Zof= <for+2a74>% ME st0| RFoIXIE,

AEfol g4, 14 5= UEt= g8

= YEAF T

W
§
T
{0
A
N
o
(3
a

X ol =2 X@RE2 olF L7 2E 74| MFE HIZdH
Y ‘uei7t =7] QoA 2l 0| =of siEZ toR YA 45

S(to be p.p.)?! to be considered2 Ao LSICt

applicant x[2xt submit MZsict required documents
T A& financial aid stAi2 XI2[&XH]
sttt

consider 12t HE



John tried to paint his house by himself, but he

found someone else it instead.

(a) doing
(b) will do
(c) does

[Part 1]
/ (a) A: Excuse me, waiter. There is a problem
with my dinner order.
(b) B: What's wrong, ma’am?
(d) B: Oh, dear. I'll bring them right away.
[Part V]
8

(a) A tsunami struck the southern coast of
Indonesia today, killing approximately 109
people. (b) Hundreds of people are still
missing, and the situation there is considered
urgent.

(d) For more information, please
visit www.redcross.org.

Johne 19| 2 2R ZsfRlT XIS IS A HE T2 v 218 &

Ak,

Biztolli= HAL someone elseS AlGl ‘2%g & olek= 50|
QfoF AAHAFLCE SADE HAIS $ABIHA "~(6oh) & 2ol ojnj2
X024 toR YA AR ez BHEICL matM to do7t
et
od

A: OJE], FARIR, XS AA
B: oI ZH0[M7IR, 57
A: ZRIX| Z2t0[7} 8 Lteiof Sh=
d) B: @, M3l tiz 2ot =L

Fzet Aol 2M7t AL,

gl 2f LIgole.

(C)ollAl {be supposed to +SAIEEH2 ~5t7|2 ZHUCY 9 L£0]
o, serve= (SA18) MBaiCH 2k= 2JolQldl be served7t =0{0F
‘Mt 2t ol Fct

order &2 be supposed to do ~5t7|2 ZHRICE ~alof Sitt

el

(a) 25 OFF MLtn|7t QAo HE SRt ZERHA 2F 109F0| AMRH
(b) 44 o] or | A5 Aefol T, ¥

(c) Ql=ulAloL 3
Huxjol 7|3
g

‘L J

Lc
Lct,
redcross.or

SAE ~at7| el 2te o BAIR MY A2 toRHALS| HEf=
L".E’J‘EH 2 lct (C)ollAl help= A
MO{0F SIEZ to helpZ MOF Lot E%

tsunami ALD|(RIZIf ofst oY)  strike (Rt - &Y SO|) LAsHHE
RIcH], ZEfsict  approximately ti2f  missing d=0!
urgent Z/IZst medical supplies 21242 survivor MZExt
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Exercise 1. being
6. Arguing
10. enjoy being asked

2. changing
7. landing

Practice Test 1. (c) 2. (d) 3.(c) 4. (a)

a b ownn -

Practice Test

[Part 1]
1 A: Will you be able to finish that
dress in time for the costume party?
B: | doubt it.

(a) sew

(b) to sew

(c) sewing

(d) to have sewed

. Did you talk to a doctor about your
headaches?

B: Yes. He suggested

time out to relax every day.

some

(a) take

(b) to take
(c) for taking
(d) taking

3 A: | finally finished my sculpture!
B: Great! You should be proud of
a beautiful piece of art.

(a) make

(b) to make

(c) having made
(d) to have made

A158 Answer key

3. your
8. Allen’s becoming / Allen becoming

5. (a)

4. making 5. seeing

9. winning

6.(b) 7.(0) 8.(d)

Jenny= Allen0| =&0| & AS XML

JohnO| 1 CH3|0f Al R&E 7

H
10 UE of 222 o H=X0f thsh B2 2 24 SRR ett

p.209

A 7Kg mEjof o 2 S AS AR 2tE 2 A0?
B t

Ztolli= 2ol finishel =017} 240F Sk=t, finishe SBAIS =
M2 Fol= SA0IER HoR JKstt 22 (c)o|ct

[012]] sew HoHCE =St BSCH  in time HMAIZIO|, S| 47
costume party 7t ofe| | doubt it 2ZX| 224 H{EX| St

e
i
=
:

A: SIAOIIA| H] S0l Cifeh Z3LI?
B: 8. Uo7l i AIZES UM JAIS Fsieta #3lo],

[5H4] suggest= SYALE SHOZ Flot= SAO|Z2 BIZH= takingOl
A9t suggests SE0 [5h= EFSALOIZ| CHEO (c)ollM
XM 20 Yol MRS

[012]] relax FAlE Fsict

OllA “finally finished’ 2t &t
o UE LEfs 22 SFAHhaving
©).

[012]] sculpture =24  be proud of ~2 Xi2tA2{Y5ict



[Part 1]

4 how to swim is an important part
in the culture of many tropical countries.
(b) Learned
(c) Learn
(d) Being learned
5 .
Remember your jackets before
leaving on the camping trip.
(b) packed
(c) packing
(d) having packed
6 .
Young children are not used to
early in the morning.
(a) wake up
(c) be waken up
(d) being waken up
[Part Il
7 (a) A: We're running short of money, so we
need to set a strict budget.
(c) A: Yeah. And I'll walk to work instead of
taking a taxi.
(d) B: That should give us enough money to
last for the rest of the month.
[Part V]
8

(a) Because of the recent swine flu outbreak,
our academy has decided to cancel all classes
this week. (b) Our school has not had any
cases of swine flu. (c) However, doctors think
it best to close the school as a safety
precaution.
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STAE e U toR ™A= sliof g oLt Dj2He] YS LIEHA
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[01%]] swine flu =X 52 outbreak (M- Afx-ZY 9| wayaiay]

=
closure mif, 52

safety precaution ot ofet x| extend
HElsict
H
DAY -|I_'AI'
I
Exercise 1. going 2. amazing 3. recorded 4. guaranteed 5. running

6. emotionally neutral and frightening 7. that interested in history

8. the disappointing loss

Practice Test 1. (b) 2. (a) 3. (d) 4. (c)

a b~ wn -
12
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r g
2

= 280| BEst= MBS Mt
g,

&= W Zolof,

Practice Test

[Part 1]

1 A: Why do you look so sad?

B: Ijust finished my exams, but my scores
were very

(a) disappoint

(b) disappointing

(c) disappointed

(d) having disappointed

A: It's outside today.
B: Well, the weather report said that it will get
even colder this evening.

(a) freezing

(b) been frozen
(c) frozen

(d) freeze

A160  Answer key

9. Her stunning beauty 10. an amusing story

5. () 6.() 7.(8 8.(0)
———————————————————————————————————————— p.212
YNoR FYHQ! YU LA YRl it B

7 U a2 Fz=2 ol &0| Aofsks S = Ho| gict
8 1 YUES MUAAS WYL AS = sHmEACt

9 1uol B Dl US R0l MRES ok

10 olol= 010k it sz,

p.213

Aol 3 & 207

B: A2 ®t=dl oot 2 a2l

[5H4]  disappoint= MIA|F|CE o] 202 UTO| ZYRUSAIRI
0215t SAIS0| ZH9 210l Zig SAIE ol SIRfEAL 7\:.W
Lle e £AIE mole PAHEAIRZ LIERHCE T4

o= T =
AYUE & 20|22 disappointing0] ST

o A
~g

[012]] disappointing AYA2i2 7|chofl 2 olxl=

A 2= HIZ M 1R &t
B: 8, ¥7] Gl2oilM 22f=0] este 2N o SOl

[614] freezee ‘@7l SiCH 2t 2ojol, M S0| T2 2 freezingS
2 EHBICL B frozen2 RRIZ o W& o Lolthe.g.
frozen food W& AIE). HEE (a).

[012]] freezing (BB 2H) U F=; dsle| weather report &7| o=



A: You look after studying all
afternoon.
B: You're right. I'm going home to take a nap.

(a) exhaust
(b) to exhaust
(c) exhausting

[Part ]

4 Nearly 70% of the buildings

during the war have been rebuilt or repaired.

(a) damaging
(b) to damage

(d) having damaged

The students this school have to

wear uniforms.

(a) attend

(c) attended
(d) being attended

You have missed too many classes, so | have
no choice but to give you a
grade.

(a) fail

(b) fails
(c) failed

[Part Ill]
7

(b) B: Yes, | did.

(c) A: It must have been inconvenient for
them to get to class before this.

(d) B: It was, but now they will find it easy.

A 2% UU SEIIGL XM Eolct,

B: 2ot Fofl 7tAM HE & XIoF0].
look0| ~Xg HO|ct 2k 5oz MY miols FHol YA E0E
Fstct wetM BlZtols SARR! exhaustQ] 2AF HEWZt 2t0F k=],
exhausting2 ‘XIX|7| 5H= 8, exhausted= X|ZI o 0|22 (d)
7t &St

oY sol

exhausted x|zl take a nap W% Xict

=9/ 70HME 00| HAUZAHLE 42| =IUC

Jon

B
o U=

Hl17Hol= the
gleE Zol2

2% TA|e| sAt=E have been rebuilto]|22
buildingsE F0l= 20| 2o} sict 712 Yoz
2 MAZAR! damaged”t FE.

damage #&sich &8A7ICH  rebuilt 2HZI6ICH repair 4=2/5tCt

0| stuwof Cils StEER m=g Jofof St
giZtoll= the studentsE Alsk= 20| 2f0f st=d, ‘S&(~ot=)
Ee= TH~S) o ooz MHEAME AtSaHA LIEHACE HEE
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attend (5t Sof) CHck FAfSICH

HE Ee 28 XA UK MaS E 80 gL
fail2 YXIAIZ|CF of S£old|, H47t 2e10] Fof shdol Yx|SH Zi0]
22 x| HM4E faling grade2 BT HER (d).
have no choice but to do ~stx| &2 4 8ict  failing grade
s ®a

(@) A: stmoflAl Zoll SHESS 2l Af Az|H(0|EIS MRIFCte H SRU0?

(o) B: 8, EX{01.

(c) A: Toll= 50| 25t 71717t E2HRE 7ot

(d) B: 2K skx|gt ofx| 252 Helsictn =270k
@2l handicap2 Eof F= HONZS O 2fe SO HAL £= =
MO HARRI studentE AlZ 4~ Gt M2tM handicap2 &
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IAZAE EEL
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[Part V]

8 (a) Do you suffer from fatigue, blurred vision, (@) mz, Y A, ME g4z nMsta JFL7K (b) Y a0 &
and weight loss? (b) If you do, you may have 0| Q= HUX|E BELICE (0) @7 U9 &2 of 4x[0f sk A=
diabetes. (c) Diabetes, causing by high levels =82 MMzdoz 19 770t0| HolA| Fake F= HLICH (d) 0] HE Al
of sugar in the blood stream, affects over 170 0] @Y, 25, A= XI=20 9l XIZE 4= UX|TH FHEX| LS 0=
million people worldwide. (d) The illness can A 2+ uGLC
be treated with diet, exercise, and medication, © oml wol Biil NS A= ol
but it can be dangerous if it is left sl (c)2f causing2 2A0f sJ. oif F)labezes(ohoi’g TE:oLT‘_ ct,
undiagnosed. cause®| SIMEAIRl causing® ~o HRI0| E=" 9 Loz "~

ofsF 2 THEAIR! caused2 MO 2SIt
(causing — caused) [of=]] suffer from (4-1&8 52) ¢ct fatigue T2  blurred vision Z
Z5t A, 525t AloF  diabetes =¥ blood stream &=, &4
@2 affect ~0l IS O|xICt treat XI25ICH  diet ATk Ao 28
medication 2=: 22 |2 undiagnosed ZITEX| 42
DAY -E-AI':IL'E'
I
Exercise 1. dancing 2. meeting 3. Not having 4. Having met 5. Wanting
6. Having studied 7. Bored 8. exhausted 9. Not knowing
10. (Having been / Being) Warned of
Practice Test 1. (a) 2. (b) 3.(c) 4. (d) 5. (d) 6. (c) 7. (d) 8. (c)
------------------------------------------------------------------

1 =2doM 52 F= &2 Virginias 142 52015 A0HFCH 6 Zelol FFFU| R0l 24d= 1 ARl & &ARic
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47|12 ok

Practice Test p-217

[Part 1]
1 A: How did you injure your leg? A: OIWEEL CHlE EFS0f?
B: basketball with friends, | B: 2750 sToICH} DjI2X A LES U0
slipped and twisted my ankle. ) _ -
[e2] Z0K,) olstel =Ho| GFol+sAhel 2Xiet Ho|2&2 CfE Hol= o
(a) Playing 40{7t EE*E' SOt ALZ0] 2foF BT EAFE0] 2 ER |
(b) Played ot playe 55 #AOIZZ HMHEAL Playing0] Lottt HEE (a).
(c) To play ©9 to‘ﬂW P2 ZR0le 559 9ol UEHHER Lige SHX]
(d) Play 24Tt

A1EZ2  Answer key



2 A: | called you last night, but you didn’t
answer your phone.

B: Sorry! from a long day at
work, | fell asleep while watching TV.

(a) Tiring

(c) To be tired

(d) Having tired

3 A: Why did you quit your job at the fast-food
restaurant?

B: enough time to study, |
realized work was interfering with my
school life.

(a) Having not

(b) Had not

(d) Not had

[Part ]
4 .
he could not play basketball with
his friends, the boy began to cry.

(a) Telling

(b) To tell

(c) He told

5 .

Since to manager of the

department, Mr. Johnson has had a lot more

work.

(a) promotes

(b) promoting

(c) he promoted

6

all of his money, he ended up
begging on the street.

(a) Spent
(b) Being spent

(d) To be spent

injure

2ag Yolct slip olmxict  twist (H5- &5
ankle £=

S2) thict

A: OfZIol| LS| £
B: O[Qfall 2AfoilA 2

Metei=dl Tst ottt
| 5t2E 2HMU DlZsiA TV 2Ot ol S0,
‘ojshM BERACY 2te 2Jol7t =ofoF X

was tiredOlAl H&EALRL FOHE Meistn EAAEC2 PHEH
(Being) Tired7t EICt. ()7t FE.

fell asleep =sct

A IAEREFHOIM ofH L2 of 2BFRO?
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TMEUHE
JEe AlZto] 28] iU7| WRol 2t= 2Jo)7t Elojof AfeiARR
82 30t 55 UAE = FAMEA0IHM 2EH0| 2foF Bt
BALRC BH2 2AF A0l notS MAl LIEHNEE ()7t FE,
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tetA (d)7t MEolH, 2AE20M being2 AEF Jts
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X
promote SZIAI7ICt  department £, sfnt
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[Part Ill]

7 (a) A: Hi, Jenny. Are you enjoying the party?
(b) B: Yes. | hope you don’'t mind, but |
brought my boyfriend, too.
(c) A: Really? Where is he?
[Part V]

8 (a) This is a reminder that City University’s
computer labs will undergo hardware
upgrades beginning March 12™. (b) The
upgrades will include new computers, as well
as laser printers and color scanners.

(d) For
more information, please contact the
Computer Services department.

1. (a) 2. (d) 3.(¢) 4. (b) 5. (c)
11. (a) 12. (a) 13. (d) 14. (d) 15. (b)
[Part 1]
1

A: | don’t think | can finish my history
assignment before the deadline.

B: in your place, | would ask my
professor for an extension.

(b) Had |
(c) Have |
(d) If I will be

A Answer key

(@) A: °H3, Jenny. mtE| &7|1 U0{?
(b) B: 8. 28l W GXt Z7E di2iRb=t] U7t oITOteHX| iU ™ St
(©) Ar HZ? ofc| U=dl?
(d) B: Rosa®t 0107 [SHEHA] =Holl 7|eHod AMQLOA,
()= AZof glo] SAIE 20K, )2 HEE EXiHAR 20|
Cf, w2t talks OlsHe HIA0IE 41l6l and talking with Rosa, &
= SAl A2 UEUE BATE2Z 0] talking with Rosaz
IXOF ot
stand against 7|chct
(@) City University ZHE{ A2 32 12 St=0f PI0l=5 & AS CHA
S YEERLICE () @T20l= oY 2folM Z2lE, Zaf AJH4#eE of
Lgt M ZREE Zake AYULCh (c) 22 2ol Hish A st=ol= &s
0| Y F&2 SHEASLICE (d) O XIMEH A2 ZRE AMdlA 22 A=

ol FHAL,

€)= BAMFRCE, BATR0IME BIEAl FH9| 012t BALES)
Ef7h LRIsHOF BiCt, LIS FE9| 012! the new hardware= 7|
22 Comparing2 IHEAR! Compared
2 X0 YLk

This is a reminder that ~2 CHA| &t Y={=gILICH AT IAHAZEIL
CH  undergo ZiCt &t compared to ~0of Hlsl, ~2t HlmsiA]

significant 453! &xist

p.218
6. (c) 7.(c) 8. (a) 9. (d) 10. (d)
16. (c)
A AL SHIE J18 ol 2 4 ASK 222001

USX
B: Ui7F HetH uagn 7|2ks Adsigeta 2501,
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A: | appreciate
to work with you.
B: Thanks. We’'ll miss you a lot.

the opportunity

(a) having
(b) to have
(c) to have had

A: | wish this store
parking lot!

B: Yeah. It always takes a long time to look
for a space.

a bigger

(a) has
(b) having

(d) had had

A: Did you hire a new employee at your

company?
B: Not yet. I'm having a hard time finding
applicants.
(a) qualify
(c) qualifying
(d) to qualify

A: The CEO gave a very
speech at our Christmas party tonight.
B: Yeah, | felt very amused.

(a) entertain

(b) entertained

(d) entertaining of

A: Why weren't you at the baseball game?
B: at the game, | decided to
come home early.

(a) Felt bored
(b) To feel bored

(d) Having felt boring

A: O3 271 L 7|21E JIRE Aol tsh A dZsHe.
B: 10MR. 2= o] ol 228 Hole.
toRFAILL SHAS| LSO FEO| SAIEC 2t7{9] oA 2=zl

to have p.p. %= having p.p. ZEIE £Ch appreciate= SEAt

g S0z Foke SA0IH, °*77| Ust %
o] 22 HSEIE2 having had”?t H&sIct,

appreciate 105t

22 appreciate2Ct 144

miss 12|Y/5ICt

wish Holl 2= H2 7FEE ANE At8s Atalnt dities AYs
LIEFHACE 07Nz SiXiel AYS UEHHER2 SAte] 1ol M
it FEE (o).
parking lot =xP, it XA

A: U3 SIAoll A 21 EUL?

B: OfL|, OFEL XS Z& XIZAIE 3717t &S0,
LigA BIZHoll= applicantsE F0l= 20| 2of st=dl, qualify=

Afoleg2 IHAHg AWE 2

g Foh ek & IHHEAR! qualified
7t gaitt FEE2 b

employee =12

have a hard time -ing ~st=0l 0282 Zict

qualified xt#S 2= applicant XXt

E}E il, eE2 Molg & A

2IZHil= speechE 4=4l5t= 20| 210
0|22 entertain(Z4 7| o

hel o entertaining(RMo|RL=,
E7i8S F=)0| AEsi, (o)t HE.

ol

entertaining MoI%ls, 27182 &= amused MOIQHEHS] st=

A 57 7000 of |t
B: Z717t XISl 2 Qoﬂ 201,

FEATR0IN YU 2A FEE 2= 2X0|Ch FEQ| F07t 12
EATES SAt feeltt 58 A 0|22 SR ANFeeling)7t 2{0F of
o, XIR&S Lylct & feel bored2 UEHHEZ ()7} 7FE HE5|
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[Part II]

7

10

11

12

Everyone needs a hero when

they are young.

(a) look up to
(b) looking up to

(d) to looking up to

If the ship had hit the rock, it

(b) sank
(c) would sink
(d) will sink

| object to
else goes home early.

late while everyone

(a) have worked
(b) having worked
(c) have to work

The man was thought to ina
mountain climbing accident, but the police

could not find his body.

(a) kill
(b) be killed
(c) have killed

thoroughly, your business model
is not efficient or practical.

(b) Considering
(c) To consider
(d) Having considered

It is essential that every student
aware of the revised exam schedule.

(b) is
(c) are
(d) is being

Answer key

SE 0IE2 o2 1 R22iE ASS TR
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FEAN 8HE MM to look up to?

t
AR, 5S(~5tE) [EE zl
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L= 2 ARE2 25 9% Foil 7h=dl =AZIX| Yok st= Zoil gih
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O Hils Ml =5 =4S U2 AeZ OAXXRL ZE2 19 Aklg
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It 2te 9o|E, o7|Me gxbt 52 Aolez ¢l

HAs| nefeliE o, Ul Al 24
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S(be killed)0| 2o} ATt L5t was thought=
dojt Lo|=22 ARE™Ato have p.p)S MA]

LIER 2~ Aot FE2 (d).

kille ‘(E*% =
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CF AlZke B
have been kiled=
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[Part Il
13

(a) A: Have you heard David is going abroad
to study?

(b) B: Is that true? But he is engaged to
Jenny!

(c) A: 1 know, but he said he would get his
Ph.D overseas.

14

(&) A: Amy, I'm sorry to hear about you
getting fired.
(b) B: Yeah. | was with the company for 25

years, so | was shocked to lose my job.

(c) A: 1 can only think that you should have
left the company years ago.

[Part IV]
15 (a) One of the biggest problems in sports is
steroids.

(c) Many athletes today
use steroids to become stronger and faster in
a short time. (d) However, it is important to
remember that steroid use can cause cancer,
liver damage, and serious heart problems.

16

(a) Einstein Syndrome is a condition which
occurs in young children who have trouble
learning to speak. (b) Like Albert Einstein,

children with this condition are very intelligent,

but slow to develop social skills.

(d) That is why it is important to continue
educating your child, even if he or she seems
like a slow learner.

(@) A: David7t 5tz /=0l Z Hat= 7 SUAA?

(b) B: A20[0F? SHXIZH 2= Jenny 2t A=3HEOL

(c) A: o, ofXIZH = S0l BIAF SHRIE Be FHeta 3Hod

(d) B: 1 Z2F¥S 2ol 2s Y AR X 28 A 2ot
ol dSofl cheh I, EEtat 22 XHAO| ol LI f (it is
HEAH+of + SXRA +oRHAD (F7P7t of dES A ~stet)
2 BHSt (de 27t 28 Z2Fs WalM Alel ZX| Raidt et
Lol It is inconsiderate Foil of him0| @11 19| IS Lt

EtLi= to make such a decision0| 0|0{x{0} fgich

abroad dlielof is engaged to ~2 2&5t Mefolct  Ph.D. giAt
(3t9)) inconsiderate A2l ZX| &5t

(@) A: Amy, s nEIACt D SU=0 RL0[0F

(b) B: 8. 1 3|Atet 251 Bl =d, LAI2IE S =0l SAS B0,

() A: 2 & Fofl 1 SJAFE 2RFFU0{0F FHH 23 2ot

(d) B: 4l o[ %fot. Ofxi| Ct2 LXt2|E F7 o= HS Liol7F SU01,

very®?t too= 25 012, UR 2k SOIX[EH U ~alA ' 4
Qict 2t= 2xol ou|E LEE mjofl= too ~ to T2S &L} (d)=
HR Lot 50l O XIS A 4 gt = 9Inj0|82 very
old7} 0K too old2 MOF &&GICY,

get fired afiu=ct

=

(@) A==0IIM 7t 2 24| & of

= As|Zol=olct (o)
2 5k SI=AITI=H MOl RB0IC, (0) 95 & U2 M4S0| B
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o
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o

X7| floll AHZOIEE ARSBICE

(0)oll A using® drugs

=g Qe A8k

AlglE 2ARIH|, drugse 28 41t
10|22 HARAR! used2 X0 LR,
5

drug 22 overnight st=gt S¢t  liver (QIHI2) 7+

LojLtE Zelolot. (b) LHE OIRIGEIRIXZ, 0] Helo| U= ofRl0IS2 of
 EESIR(R MEH Jlas LEAZIE e L2t (o) Bief OfRlkErelo)]
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Exercise 1. confidence 2. Beauty 3. The 4. the 5. garbage
6. the girl 7. this luggage 8. a spoonful of / a pinch of 9. Time

10. consists of

Practice Test 1. (c) 2. (b) 3.(a) 4. (b) 5. (b) 6. (c) 7. (d) 8. (d)
------------------------------------------------------------------
1 2= glo sH2 M2fst 6 X2 227 U= AFE ORL?
2 OrSC30I2t 2= AIZfel Mztof ZedQUCHX =0l 2tolo)). 7 Ol M= A B =Ad=L?
3  X+e= HY FIE =0 8 Azs ot AF[ATHR 2o,
4 = Ao 24 HS SEELLCE 9 A2 OIRE J|CHAFX| ULt
5 Bt X M27|E Mef7|Sol| Bie|T ot 10 11 82 209 stMSE 0|F0{M Qct
Practice Test p.223
[Part 1]
1 A: Could you hand me , please? A &5 & AUFAIR?
B: Sure. But | think the dish is already too B: 220|%. sIXI2t 2 SAI2 o|o] ZE3| WL,
salty. [34] sats SHPA0|OE D)HY FHBAS 20, (XY =248
(a) salt o2 £ 4 Qlof LB 07 |Me= LHEA 3Kzl Jtel7|= teo]
(b) a salt #5IE =2 theS AfEsh= X0| HESIC,
(c) the salt [012]] hand ZiuIFECH dish (PAll ) 241 (LEte2) 22| salty ®
(d) some salts
2 . 1 . 7 :tﬁ
Al ls on tonight? Ar 1 487] 2ol stul?
B: Yes. It'son at 6 pm. B: 8 2= 6Aloll af.
(@) a game [BHE] game(d7], A2 & 4 A= HAIR (OXZ AL QlO| 42 £
(b) the game £ gleH, @soll sk= £ Z7(0f tish olop7|etn JASBZ the
(c) game gameO|21L slof HMEasiCh (d)7F FE.
(d) games
3 A: | think we need to go grocery shopping A 2= XE & =2f 7100,
today. B: Stof d&mo| SAlo] Ha glof
B: Yeah. There in the fridge. . _ o _
[BH2] food7t TEIReR BAIE £ ZAR0= d 4 gl BAEM B
(a) isn't much food e a/an)Lt E4ES £ 4 ol Y e FgoiH, g2 LiE
(b) isn’'t many food U= @8AHmuch, little §)2 #AIS gh=Ch FEHE (a). &1=2
(c) aren’t much foods many foodse ‘%2 EF2| SA[AE] ol2t= <lo|7t Ect
(d) aren’t many foods [012]] go grocery shopping &22f 7itt  fridge H&T

A168  Answer key



[Part 1]

4 It suddenly started raining, and we bought
umbrella.
(@) a
(c) the
(d) some
5 )
all overweight and out of shape.
(a) His family is
(c) His families is
(d) His families are
6
mean we can do whatever we
want; we have to take responsibility for our
actions.
(a) A freedom doesn't
(b) The freedoms don't
(d) Freedoms don't
[Part ]
/ (a) A: Hey, John. Why are you so late today?
(b) B: Well, my flight was canceled, so | had
to travel by train instead.
(c) A: Oh. Why was your plane canceled?
[Part V]
8

(a) The North Yungas Road, also known as
the Death Road, is a mountain road in Bolivia
which is famous for its extreme danger. (b) In
fact, it has been called the “world’s most
dangerous road,” because each year, 200-400
travelers drive off the cliff and die. (c) The
government of Bolivia has built roads that are
safer, but travelers choose to continue using
the Yungas Road instead.

2 4 e A2 (@), (), (c)o|ct, OVWL Ato] of ol
SIf S =302 SETAIE MO S gggg Ao an
umbrella [ ambrélo] 7+ LSiCt

19| JiEe 2F IHS0(o Solvt Yook,

‘StLtol el
LIEtd = 54 FFsich
SAt are0| 2of

CHe.g. two families).

family= LEEAIRZM s S MXEH HYE
2 5 = o 33, Tl FEE S

07 IMe 715 JRlS Ttel7|eg S
2 familiese= 715 217 ALY ©f

overweight 152

out of shape SOH7H FYel, 7iZo] oF E2

A= Rt fots A2 FA0IEX] & 4 Utks A2 20lsil= Y=L
2= Sl ds0l tiet MUS XoF Bich,
freedom (AR)= FEBAZ A 4 gl= BA0IH, 22 a/an)S
MX| Zotl, 2402 0s & gich FH2 (o).
take responsibility (for) S xict
(a) A: 012}, John, 25 eff 0127 SU0?
(b) B: 27|, Lil SSTHO| FA =HA Chal 7IRt2 240F 3404,
(c) A X2, HIZT |7t of FIAE HOF?
(d) B: 21 SZA0IA GM7E 4R LithA HIElS & 7t Qo 3404,

(d)Oﬂ)\ﬁ An airline2 30| HAE FEAE
7t2|12 molls HEAS Mok S22 An
IﬁoF gt

Jfalzict 5 chat

airline2 The airlineS2

flight =% 1|3 oidl  cancel F4sicH

A L2 (The North Yungas Road)

= =3k2 flge|z2 R8st =2/d[ote JQO\E%. () At O] =2= ofd

200-400F2| ofHZHE0| 1 BN LMl FEeChs 01R2 MIA0IA 7+
=l o =

SIgist £ atn Zeix 2urk (o) Zallop BB o QN £RSS 2
Rlgh olgZtse AasM 87tA £2E olgstn AUtk (d) A=, OlF o]
SRE ABS B707| 9 2xsts T Mo BRHSS Bo o 9t

tourist= Al HAO|E2 ZAPDE 7L E4goz MO{oF
of=rl, L&Y 232 o2 He 7i2|7|122 0f7|M= tourists7h &
O{0F Bk,

extreme ==9o| ZAlst
thrill A2 &g

gMsict  cliff =28, Jraix|

2#E -pay 1 A



CHEy At

DAY
I
Exercise 1. yourself 2.1 3. one 4. something special
5. anything 6. nothing serious 7. one 8. mine

9. me 10. someone

Practice Test 1. (a) 2.(c) 3. (d) 4. (a)

5. () 6.(@ 7.(c) 8.(c)

------------------------------------------------------------------
1 UPIE AR HaeE EACT SUA0L A AA0| FY AHAZTL, 6 Ad o dzist A2 ofLof,
2 W 7IEL LUe OeFol HAlsk 2 Zolct, 7 0 B2 X 8RO ofgck
3 Aol HesiH It oft LAS 8 U7t Q2lg X0k Wi X7t ofuaL
4 ©oivp S Roi? 9 Yl MY mEjo] L4E EEHEH?—-M‘I ok,
S L= 2o ol ofRAE BELF 10 FZ217F HolAl AXLSIn U=X] ofEA Lof?

Practice Test

[Part ]
/l

A: I'll have a steak, medium.
B: else?

(a) Anything
(b) Something
(c) Nothing
(d) Everything

2

A: Do you know where my golf shoes are?
B: | put in the closet.

(a) it
(b) one
(c) them
(d) that

A: Oh, no! | don’t have a calculator for the
math exam.

B: Don't worry. | have
borrow.

you can

(a) extra it

(b) an extra it
(c) extra one
(d) an extra one

A170 Answer key

p.227

A AHOIZE B HER THFAR.
A

B: o 22k A2 YeMe?

[614] ‘Tdlof = 27} &= anything else2 B3

roh
04
i}
rio
=

= my golf
themOI &

Hx717
A7

t
I

£Q

o1,

A: O[2l SofASof Eest
\ b U1,

B: ZF of. LfoilAl o2

N

ol

[GHE] ol L2 BAtet 22 i & 71212 mie itS, 22 359 o2
e’ S 71212 T ones 20t O7|Me 22 AT ALZ|7t ofd
T2 7A7IZ J12]7|122 oneS MO, A 4 Q= iAS 712)7|2
2 an extra one0| B,

[012]] calculator 7IAt7|  extra 0{29]



[Part 1]
4

| wish our boss would upgrade our computer
equipment, but he never spends money on

(b) them
(c) one
(d) each

Maybe the boss wants

(a) commercial more something

(c) more something commercial
(d) more commercial something

Everything we discussed is strictly
confidential, so you're not supposed to tell

(b) someone
(c) no one
(d) everyone

[Part Ill]
7

(a) A: Will you be joining us at the company
Christmas party this year?

(b) B: I'm afraid not. I'm going to travel during
the holiday instead.

(d) B: Actually, he gave me a paid vacation as
a reward for all my hard work.

[Part V]
8

(a) Somnambulism, also known as
sleepwalking, is a sleep disorder that causes
people to move around while sleeping. (b)
People who have this disorder wake up while
still sleeping, and begin walking around,
talking, or even performing tasks.

(d) While sleepwalking
is not dangerous, one should never try to wake
a sleepwalker, as it may scare him.

L= 22| AFgo| ZFE gl ga2(01=E sisZ di2ix|gh 2= aziol 2

o =2 MX| g=rh

21Zt0ll= our computer equipmentS thAlck= YA @f0F SHe
o, equipment= A <~ Gl= BAIR H4 FF0I2R it0] YHCH &
g2 ().

equipment |, 2

SAE FOIM SABHH, 0471A
olgt= 9| |7} =lofof GtE22 more
commercial0| something Floll $IXIGHs Z40| Lt HES (b).
commercial 40!

et =9t 2E Alg2 FH[0|22, A2 ol FH0HE Yelii= ¢t

ELich
confidential (H|242], 7|of)olat= Ho| USS2 OFRoA= sk
Mz o Ect et= 2jo|7t =|0{of sk=E, noto] USEE no one T
41 anyoneO| 2A0F ST,
strictly confidential =[]

(@) A: Salf 3lAF F2|A0tA TE|of| 20| Z7HOF?

() B: & Z A Zot. 57t uf oES 2 HAE,

(c) A: 127 AFEHS O MS3Ze §7HE A 7Hof?

(d) B: AMME, AFEEAIM LiZE S4al 5t Zoll it 2Me=2 25 |75

F401,

give time offe] A= the bossO0|2& give CHS0le MHNHAE
Otul2t 2X24 youZt A040F it
convince MSsitt  give time off §7t2 #Ct  paid vacation

RZ 87t reward 24

o ojn|7t =0jof AjHA
Q0= anything22 1IX0f

[I
r_li'

-Day12 A



(nothing — anything)

HEAQH HAL

[012]] somnambulism [samnambjslizom]| +HEYS, SR (sleepwalking)

disorder (M| 7152) &of[oA] cause someone to do ~7} -5t
H (ERIMB)stct  perform (Y- - 9|2 S8) 43sitt scare 49

A sict

DAY
I
Exercise 1. three tall 2. could hardly breathe 3. much 4. little
5. sometimes lost 6. certain 7. a little differently
8. A number of girls 9. alittle 10. should always tell
Practice Test 1. (b) 2. (d) 3.(a) 4. (d) 5. (b) 6. (d) 7. (d) 8. (a)
------------------------------------------------------------------
1 R2k= M e 717t 2 EXKS0] RSt 6 L= U7t el oM 258 shdol & et SIS
2 1 BT Exle 58 Aol 4 4 Sljlct 7 UolA E CHE 7|30t A, L= Y X2lE 23 =2l Sl
3 0] k= ¢EE HR H0| Ad[Fict 8 B2 AHS0| 1 BV 0l 2050 A2|E X[27] ARFICH
4 Johnson Mi= 19| XAS0f Chall &S0l A2l gict, 9 A Qo siALIR? B: Wl &5 Ut
5 O= HuZ SE W= shx|gt 19 S 25 o) 10 Ue ¥ ZIAeks dalof Bk
ZofeiCt,
Practice Test p.231
[Part 1]
1 A: Have you made any friends yet? A TIREE & AU
B: Yes, | have quite friends now. B: 8. O[d| ZI7-S0]| 1 Zof,
(a) few [BHE] (@ de 2 + gl= BAE AlBIEE Eo| 2 4 glen, Yesat
(b) a few 1 gt esz A on|of a few7t <foF RHAZCE Fu
(c) little 2 quite afews M2, B 2ol 2t S0lch HEE2 (D).
(d) a little [0f2]] quite a few 4g4 1 &o]

2

A: Ask your professor for an extension.
B: , and his answer was no.

(a) Already did |
(b) Did | already
(c) Already | did
(d) I already did

A172 Answer key

A maE 7Igte dEeigetn 2EfhE
B: EM shgh=d], o =t atato].
[5H4] already(0l0], EM)= BIZEAIZA, 22 Lo MY AL RSAILE

besAl F, YutsAt o AXIBHE o7|M= BAMR0[HA SADE
UBESALRl did0|22 | already did2f1 3HOF LStct

[012]] extension (X|2- AlZt-7[stel) 1%



3

A: Did you buy anything at the auction? A ZojolM 2 & Moi?
B: Yes, | bought for my B: 8 A0ig0l 52 LR Xt R S Mo,
backyard. _ _
SUSEARL HEI HEHE UE= S4EEAT e LU d=0]
= (TISA+HYYEA+BANY olzez MOH, LB 2Rt
(b) a few chairs wooden 2N E MOE HE0] H0f0F XHAIRER afewE MA afew
(c) few wooden chairs wooden chairs7 &G
(d) few chairs wooden auction o
[Part ]
4 ) ) . ) Co [
Today will be with a little wind =52 ol S2ju ofzte] £30| £ Ao|Ck
from the north. LA 952 til 52 Ol of £0| Slof h=d, mostyt BAL
(a) most cloud 2 MY Aol T, ol ats oz ANZE tE 1 A0
(b) most cloudy o, 01710fi= mostly (CH7H, CHEE)7F HS8ICt 'S2I'9f on|g =
(c) mostly cloud HEAR= cloudy0|22 (d)7t 7+ st
mostly ti7, the&  cloudy (M7} &2
5 Swimming is that | have ever S Wt Fr1Hez sh= fRYst 230Ic
done on aregular basis. HEADL A AAT 2200 DA+ BEALEAYS SAR &
(a) the exercise only L. 07IM= only (RASN7I SEAMZA exerciseS A6t s
2 dg2 ).
(c) only the exercise on a regular basis &7 X2 2 (regularly)
(d) exercise the only
6 Bill cash and almost always pays Bill2 o g2 3igS 51 CiUX| on 84 I8 FI=2 XIEdict
with a credit card. much7t cash@ 4AI51T U902 cash Bi2 Yo 2lof 50,
(a) never much carries never= BIEEAIZ A UBESAF Y0f IXIGIER carries AOH #2LCF
(b) carries much never r}2kA never carries much7b atck
(c) carries never much cash &2
[Part Il
/ (a) A: Hey, John. You don't look very good. (a) A: 0l John, AMEH7} OF Z0t 204,
(b) B: I know. I was up all night finishing a (b) B: ot BUME Biiet Ee s Mod,
research paper. () A o FY mEstct
(c) A: Wow. You must be exhausted. (d) B: 8. == H2 = #7t 8lol,

(A)0lIA hardly= Bl=RAL] siLE 2% S7t0] =Y 29 ZSALE
beaAt 7, LEISAL K0l XIS w2tA can hardly keepQl &
MEZ MOF USITH

be up all night &g 14 XMt exhausted XI1Z|, mjzgt

hardly 79| ~& 47+ gict

IE
e
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Ho



[Part V]

8 (a) Due to the currently financial state of our (@) 2| SIAIS] TR 1Y HEl=Z Qlal, ATt ot AZS aof 2 A ZEL
company, I'm afraid that we will be making Ch (o) 12 1YRE, 22| slik= O Oly /8 R7IE XMSolx| ke AYLch
significant budget cuts. (b) Beginning January () RE0|, AFES2 g2 YA 2 AYUCh (d) M= Hol tisf 2
1%, our company will no longer offer paid O AfRo] RAAIH, QIAImE AHILIC
holidays. (c) Additionally, employees will not o .

lays. ( f) X v, emp z o 1] @OIM currentlys Bls, AIBL ofsts o AR, O7l4s
receive performance bonuses. ou have
pe > o @ 1ry Y financial state (W& AfEfOlels AT FHE +Al510 ooz
alny questions rehgaL gt ;Se new policles, 29! current (XS], XIZ)2 Mot XHaiC
ease contact the Human Resources _
P [012]] financial MH[Z8]el significant A4Zst budget cut oiiat Azt
department. _ : . _
no longer Cf 0|4 ~5fx| 2Ct  paid holiday ®& &7t
(currently — current) performance bonus 413 regarding ~of #5t6{ Human
Resources department QIAtzt
DAY H|
I
Exercise 1. soon 2. much 3. the prettier 4. fastest 5. more
6. not as clever as you 7. the best 8. less 9. the most beautiful
10. more than any other age group
Practice Test 1. (a) 2. (b) 3.(c) 4. (b) 5. (a) 6. (d) 7.(c) 8. (d)

Exercise )f---------------------oooomooo oo p.234

1 Lol 2g === el 2UF, 6 Ut URE Felokk] §rta MZiskx| 2=X|?

2 FN0| FMR Ao He aRCt M o 2Fot 7  David= 19| SlAtolAl 2|19| T AFO|CE

3 Li= Susan0| 1 & S0IM Cf Ofl#8Ct D A2H5HC 8 L= &S iz = S0l2tM Qelg o S o A AE

4 MMOIM 7HE 2 AR UL Sict,

5 1 AFRAOIM Peter2Ct Of 28591 AR Ol2% giCt 8 HFE=s Wt 2 7K olst XE F stolch

10 13-17MI9] YAES2 OE of AZHCEC oUXE 2Ol AR
ot

Practice Test p.235

[Part ]
1 A: What do you think of the new CEO? A M2 2ot ArEY ofd 2 Zot?
B: He's okay, but he doesn’t seem B: M7 5|, & APNEXE ofs 20| RX|[= &4 A 2ot
as our last CEO. . _
[si&] gIZh Foil as7t ACEE (as+JEAM/FAQ Bl +as) 720 4%
(a) as knowledgeable 22 of & Qi) HMHE (a).

(b) as more knowledgeable
(c) more knowledgeable
(d) the most knowledgeable

A174  Answer key

=IE=Y
[E-gu

[012]] knowledgeable o= Zo|



2

A: | heard you got an A on the math exam.
B: Yeah, the test was
than | expected.

easier

(a) very
(c) well
(d) most

3 A: | can’t believe John got another pay raise!

B: Well, but he still earns no
than $1000 per week.
(a) fewer
(b) less
(d) much
[Part 1]

4 . )
Jacob is than any other person in
his family.

(a) tall
(c) as tall
(d) the tallest

S People who exercise regularly are

those who don't.
(b) as healthier as
(c) more healthy as
(d) the healthiest of

6
Even words can cause an
unexpected negative reaction.

(a) most carefully chosen
(b) most carefully choosing
(c) a most carefully choosing
[Part Il
7

(a) A: John, the phone has terrible reception,
S0 you need to speak up.
(b) B: Pardon?

(d) B: Sorry, I'll try to speak up.

A: St Aol AS EAUTHH?
=2
[=H

B: 8, Al0| Lh7t ol &fsiE 2 =t W R0
217t FHo| H|iZ(easier)0] LROZ Hlugs AXoks EARRI
much7t YAtt muche Hlugs $AIGIH W o ~8Folak=
LRO| L2 LIEHN, verye S8AILE 2AIQ g AR &
2 ).

A: JohnO| & 2 QA BRI g 47t Qlo]!

B: 5, olXI2t 2= e 5 100022 0/2ts Eoy,
but CtS0ll 1000 0|PF & E=Ch= LIE0| 2o XfeiaziRD
2, no more than $10000| 7t& MA5iCt (d)Q muche HlugS
LRl S 0f HlmZ Aol M0l= EAIZ, than HIZ o= 2
< glct
pay raise 23 14

Jacob2 7t& B0ilA 71E 717+ AL,
g7t Hofl thano| ooz giZtol= Hlmgo| 2o stH, Hlug
+than any other +H4HAh= T2 o ~ECix o -5F 9 &
o= zMg9l oolet ot HEE ().

TENOR 255k AIHES O ¢S AMHELL O HYsith
L84 255ts MF0| o sttt 2t vlmel o7t fop Xt
AZCE M2tA Hlg 29! healthier thanO0| X&s|CE
those who ~3l= ARIE

7V 0 27| 12 YRR} o7 |R| 42 BEEQI BtSE opr[E 4 QlCh
wordse= MEIE|0{X|= Z0(22 atHEAF chosen (ME1E)O] AlsH
0Of 5tH, Mg Aols A thelt & 771\ Qo= Y Fol ZA 1

Q

S

Qo

)

W > U >

2’2 the most carefully chosen0| LTt (d)7 e,

unexpected 07Ix] %2 negative £5%2! reaction £t&

: John, 37| =41 AEN7E EX] Q0kM o =21 a0t ofl,
=l

O =7 Lol Fa2fan ul 2ol A2 o S5,

: oiRkel, o = YatE7,

Ho
IE
rel
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(Loud — Louder)

[Part IV]

8 (a) Why is there less oxygen at higher

altitudes? (b) Because gravity pulls matter,
including oxygen molecules, down towards
the Earth’s center. (c) So at ground level,
there are many oxygen molecules. (d) Thus,
there will also be less oxygen molecules to
breathe when you're at high levels.

(less — fewer)

[ai8] & &2 | | QObM O 37| YsliEfetn sh= A"0I22 ()9 Loude
H|wZQ! Louderz2 A0 XtHAAZCE
[o1&]] recept|on (2tC]@- d2fu|™- HMate) 41 HEf  Pardon (me). ChAl

St UsHFAIZIOIR,; ZBELICEL  speak up B 3| Lottt

(@) ol T=7t o =2 Rol= MATH SEE? (b) 0] A
Zog Zof Wal7] mZolct. (¢

= )
20| Uk () Ty, £ Aol S woll= A8 4 U=
t

[SH2] Yo|Lp H=ot o XgS UEHE 4R0i= lessS AR 71 O A
2 Molli= fewers £Ch ()M oxygen molecules (M4 EXl=
A 4 Qs FA0IER 012S 0l U fewer?t 2A0F LBICH
[0f2]] oxygen 44  altitudes 0| 1= gravity 52
of L2/t oxygen 44 molecule 2xt  breathe &+ICt

pull down &

DAY MK AL
Exercise 1.in 2. for 3. across 4. at 5. from

6. 0n 7.0n 8. into 9. on duty 10. at 101 miles
Practice Test 1. (c) 2.(c) 3. (b) 4. (a) 5. (a) 6. (d) 7. (d) 8. (a)

Jack2 R & =0 ZE& Aolct,

= T

1 3|0z 220 F Alzt St TidE Ao|ck
|

DWW -
o
0
T
N
N
i
e
2
;O
(xl

Practice Test

[Part 1]
1

A: When does the train leave?
B: thirty minutes, | guess.

(a) At
(b) On
(c) In
(d) By

A176 Answer key

O o N
fon
lo
AN}
M
e

— = E
10 1 &4 29 toM2lT & Z7[0IM Al 10101e] 75
HRC
p.240
A: 7IRHS OIR| EWsHLIR?
B: 30% 0|2 Bwet 22U,
(4] AEAF 308 S0f 9 ojn|ofof t=d, BE SAKEE ~Sof 2t

oloj= XM= inS MA LIERHTE HER (C).



A: When did your boyfriend ask you to marry
him?
B: He asked me our vacation in

France.
(@) in

(b) for

(d) since

A: What do you have

hands?
B: It's a necklace, for your birthday.

your

(a) to

(c) for
(d) at

[Part 1]
4

Janet has a lot of beautiful pictures
the wall.

(b) at
(c) in
(d) of

The school was closed a week

because of the swine flu.

(b) until
(c) from
(d) before

Platform screen doors are being installed in
subway stations to prevent people
falling onto the rails.

(a) off
(b) for
(c) against

[Part Ill]
7

(a) A: Would you like to join me for dinner
tonight?
(b) B: I'd love to. What time shall we meet?

A: EAF T OIH 2E SRR 01?7
B: ZZA0IM F7F EUT AS 1 LIHOA.

H&e "F7t S0l 2k 2loivt 2fof sh=dl, TXIAF forlt during2
B5 ~30F0leks S0IXIEh for CHE30l= FAHIZIQ £Xte] AlZF

0 20, during CIS0l= 7I7tel E&' 0| 2Ch FEe ().

A 20l /7t S2401?
B: SZo0l2ld, Ul 4 =200k

Zole2 ‘~otof 2te =2 LEi=

Janet2 01| 0tELC]

2lofl F=sH0 Uz A2 TXIAF ond M
Zio|

Rﬁoﬂ E A=Al

1 stis ofx| SgoR UFY SO Fuitt

2ot

O\'

712k ol 20 ‘~59F 0lek= K2

ch. FE2 (a).

LEH= XA fort &

swine flu =x| S

AFE0] MZ0l BoiXlz XS 27| flof TEA SU30| 2321207 &

R =2 T,

from2 prevent, keep, stop S2 At B A0 AX| LA 9
o|0|E Z=Lt (prevent+ 20 +from+-ing)E= =XM7L ~5h=
A aittol = MER ().

platform (7|x}=2)) 2342  install Mx[sict

prevent A from B(-ing) A7} Bst= 24 9itt

z
>
fo

St LI HY AN 20| B
L B0 % Al0] BHetp

S
w

Ho
IE
I
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(c) A: Anytime after six will be fine. (©) A: 6A Ol H AMIEX] BFOF,
(d) B: Okay. Let's make it on six thirty. (d) B: Z0L. 6A] 30222 At
(on = ay) 6] ~Alof 2t AIZtZ 2 oolls FXIA atg 4ok w2k (d)ef on
six thirty= at six thirty2f21 sHoF LTy,
[Part V]
8 (@) Most women'’s colleges on the United (@) ol=0l U= CHE 22| Ot 19M17(of MEICE (o) 1 iSiES s
States were founded in the 19" century. (b) o7l 50| THE o XM= EE 4 RIE ussS HSsize s5e=z
They were set up to offer women the MIQIREL (o) T DAlofl CHERS| bt cistat B8 hsts2 Javte st
education they could not get anywhere else. AIZACE (d) 32iLt X 2047 22 32 Hds0| g 255 Usii7l=
(c) At that time, most colleges and universities  CHe0llA S2sPIE B4ZICE
accepted only men. (d) Butoverthe past20 ) 251 g5 5 jms 9o Bzl HAA in2 20 Tty
years, many young women have chosen to ()2 on the United States®| on2 in©=2 mxoF Lt 2z
study at colleges that accept both men and ons Z2 EOI 9jo] AA0| £2 M9Itheg. on the table /the
women.
floor/the wall &).
(on — in) (03] found 42sltt Mct  offer MZsict
Review Test © p.262
1. (b) 2.(c) 3.(d) 4. (d) 5. (c) 6. (b) 7. (a) 8. (c) 9. (c) 10. (b)
11.(b) 12.(@) 13.(c) 14.(d) 15.(c) 16.(b)
[Part 1]
1 A: Oh, no! | spilled onmy pants.  A: EfAAH HEXol| 2fRlS HEFIO]
B: That's okay. | have an extra pair of B: #FOf 7o HEX| & Eo| o A0i.
trousers in my bag. [G14] wineT} 22 MHZE SAUAR A & Q= 2A0l7| B2 B
(@) awine Al (@/an)7t 274U 22802 & 4 giot met o2 Jhsdt
(b) wine R (o)olck.
(c) wines [012]] spill ¥xI=Ct extra ¢422] a pair of trousers HiX| 3t &
(d) the wines
2 A: Did you finish painting ? Ar 2o TRIER o ZRtof?
B: Not yet. It's taking me longer than | B: OF% o Z%t0], M2I3iE AECt of @2 Z2|yl,
thought. B4 U2 51 2o sl2l7n Qo] £ SAPL Jlel7le thol Bt
(@) kitchen 292 FEAthe2 MA the kitchen22 Mo ST HEHE (c).

(b) a kitchen
(c) the kitchen
(d) kitchens

A178 Answer key



3

A: Do | know you?
B: Sorry. | don't think
before.

@ |
(b) you
(c) they

have met

A: Have you decided who you will hire for the
vacant position?

B: No. | want , but all the
applicants are recent college graduates.

(a) experiencing someone
(b) someone experiencing
(c) experienced someone

A: Why were you so late for the party last
night?

B: There was traffic.

(a) very
(b) many

(d) every

A: How long have you been attending this
university?

B: I've been here
years.

about seven

(@) in

(c) during
(d) since

[Part ]

7 L . .
Mrs. Smith raises chickens in
her back yard, and sells eggs to her
neighbors.

(b) a little
(c) much
(d) each

A BN 72 28X
B: Ofl2, Z2iige
Sololg.

x| 5HA0IR7?
=

ol XPAIS0| H cfElug X Y

]

HZ Al

someonexid -one/-thing2z ZLt= HEARE SEAE FHolM
SABIEE (a)9 ()= HollM xel=lin, ZE[ZH]ol A"
experienced2 LtEFLHO| (d)7F S
hire 183iCt vacant position 4
graduate ZYxt

applicant X2t

4>
ke
9£
rr
ook
oo
>
rr
)
o
Inl
R
o
o
=
mr
nx
4>
30
rr
08 px

A: O Cijstofl Hopt @2 TH

ot ==Vl
B: 7 H= ABLICH

217t Foil about seven yearset= 7|7tg LiEtULi= 0| gten=z
HXIAL for7h MAESICE since= O[22 2te Soz ARAM|}
At MOIX|2H since Flol= §& A AIFO0| 2Ch(e.g. since last
year/1999/ seven years ago §). HE2 (b).

attend ChCk SALEASICH

Smith £el2 49| Hotgoll & =

= T,

ORIE 7123, 249 0IRE0H 22

chickeng 'St H0fel & B 290 JEA, Sl 8
A0l oA &
D592 %S LiEfs (b)2
AR S 4 9ooz

raise 7|2Ct, xHBHEICH

IE
re
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10

11

12

You must educate yourself, because this is
that can never be taken away.

(a) nothing
(b) anything

(d) everything

Silver is very expensive right now, and gold
more so.

(a) any
(b) very

(d) many

Some politicians were as

businessmen than as politicians.
(a) as respected

(c) the most respected
(d) as more respected

Nitrogen is the earth’s

atmosphere.
(a) more common element than

(c) the common element most in
(d) as the most common element as

Since you left Canada, | have
taken over your job responsibilities.

(a) to

(c) into
(d) from

[Part Ill]

13

(a) A: 1 don't like playing basketball with Tim.

(b) B: Why is that?

(d) B: That's because he runs faster and
jumps higher than you do.

Answer key

Us SR dliofat gty Ltsi Oz 23 ot 4 gl A07| iz
o[ct,

that29o| Al gtot ‘~8t AL & UEHHE REHUYAE
something0| L%Ct (0)7t Mg,
take away totct

22 o o2 "imz, 22 W o st
gzt Hlng mores $AIE £ Qs BAL «of ot=dl, bluZ
2 4510 ZM o ~§Folete o= £ 4 Q= BAk= even,
much, far, still, a lot 50| QICt HES (0). HIZ anyx Blug ¥
ol AU = oLt F, Y

you feel any better? 7|22 & L

o HAI7IE2 PAVIRMED AVIZM o &8 2ert

olooz

M==

217+ F0f| thanO|

0| 2of BiCh as businessmene ARRITIEA 2h=

as ~ as TREOR EZ5HA|

politician Fx[7}

blug F=0IH, wath giziol= blug

UEE Fofplct FEE (D).

respected = gh=

as A 7oM 7HE 28 2ol

“IIU
g+ 0
o
S
=
3
~
=
0
D
1
(2
=
10

nitrogen Z4 common

=
g2, 24 atmosphere th7] 7|

U7F U2 k7| ohzoll, o Ul MySS A =UC

XAt fore SMX]-gEls
aff HLiC 2k= ojojolct

leave for ~Z &lal WLICt

(@) A: Timat® sat7| 4404,
(o) B: 24?7

© A J= g & 0lA
(d) B: 274of 217t

(©)0lIM always= BIZEAL
F, UotSAE 24of
202 ot gt

beat (AIgH SoiA) 017I

LIEtLE MXIAZ, leave fore "~
g2 (b).
take over 217 gt

HECH o el 22|21 =0] H=stzt 2K,

2 2 o 2

]

EN=I=E]

SR 221 (@)9 HR Ui ofMet 0| 2
| C|

ol A
M 4

% ZSMet beSAt

QxIBICt et ()= He always beats me2)



14

(a) A: Excuse me, do you know the way to
Seoul Station?

(b) B: Not exactly, but there are lots of buses.

(c) A: Do you know where the nearest bus
stop is?

[Part IV]

15 (a) One of the most important things to
remember when raising a child is the need for
structure. (b) Children need strict schedules
and routines in order to feel secure and
comfortable.

(d) So
make sure that your child has a detailed and
controlled daily schedule.

16

(a) People often wonder why it took such a
long time for computers to become a part of
our lives.

(c) The
computer mouse, video conferencing, and
computer networking were all invented in
1968, but companies refused to use the
technology. (d) So to have the technology is
one thing, but to use it is another.

(@) A: AX|2t MSHDIX| 0{EH| 7h=X] OfMIR?
(b) B: Eelsl= 22XIT, A= B0l RA01L.
(©) A: 7F 7i7k2 H1A FRFO 0fCIRIX] OtdIR?
(0) B: uAt20IM 2502 SH HIZ 02,

EY XA QXIE UEd dR0ll= MXIAL atE 20t metd (d)e
‘WXIZ20|A = at the intersection22 1X0F H&5|Ct,

intersection mxi=2

¥ 328 SUhil= At Zesice
L) SiAE st AdiE

Se solozA AN 2= 7

tAIO

of oto[7t HMst SHE ofF Lat

0t X0t 2 42 SH0e MAUNHAE A= Ao| |20
Ch (c)ollA taking care of 2 SX{0{ themE F0{ they2t 22 et
0|22 them CHAl THHCHHAIR! themselvesS MOF SICH

routine (FEIXQ) Ut
ol ATt

secure 9ISt OkSk=  tend to ~ot= &
have trouble -ing ~at= o 2xE Zict
detailed At

take care of

S8t controlled Ml&5| H2[SH=

t 2ol LT E7I7IR] off A 2l AlZE
fall SICE (b) AMY, AHRE 7IE2 1960E0] S406| LTls
dof]

FRE 270 FOIE 7I20[Xl= 2RUCE (0) HRE O

7H°J 710\[%.

(D)ol M ZFRE 7|z2 Lmo| EHFCL %0 OlRE S VIS
OX| UUCHE UZ0| 2fof XAz
JOF it

2 anyone no onelz
rapid 2 advancement 2% ZI2 pay attention to ~of =
9l 7I2olct  video conferencing &tel 3lo] AlAEl  refuse A
sttt Ais one thing, but [and] B is another A%t B=
olct

EXEIRA

IE
re

i - Review Test 3 A
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Exercise 1. but
6. so
Practice Test 1. (c)

Jane2 JimO| OJAtet= A
0;17| < Eli HtS X ASH

o= o

n\o

f

|
=]

-
024

A WL -
F

Eorlo
s%

ol
n

C|

ol
JE e
rlo
ol
o
1=

ol
oo, e

Practice Test

[Part ]
/l

decided yet.

(a) if
(b) for
(c) but
(d) or

2

accident.

(a) Since
(b) While
(c) During
(d) Though

friends?
B: You can't go

2. since
7. unless

2.(b) 3.(a)

0| U0?

BI MAS REAMO|CH

A: Have you decided on your major?
B: I've thought about it,

A: How did you injure your arm?
B: | was in Paris, | was in a car

you finis

studying for tomorrow’s exam.

(a) unless
(b) if only
(c) as

(d) although

A182  Answer key

4. (d)

2 220) chulel 149l N3t HSE WS,
e S0l 2

Lok a1z of0] ickn 23

| haven't

A: Mom, can | go to the movies with my

h

3. In case 4. even though 5. whereas
8. arrives 9. Now that 10. because
5. (a) 6. (c) 7.(d) 8. (d)

O O N

243
= Sttt Afof & miel 24 2t

H2loll =&l Se(stke ME

-_
@)
i
rr
40
P
2
B
=
Q'I_l
:
4
JOJ

p.247

2te 0|22 SHs U= ©

=/ A - 2o A AN TH=
SAL buto] HMEsICE FEE (o). FUZ for7t TYHAIZ 2 0]
= ~If20ll(because) 2t= SSO2 HIEA| o 20H()E2 MECH

(e.g. | had to go to the bank, for | didn’t have enough cash. Lt
= oI80| SEX| LotA 2ol 7toF FCt).

decide on ~& ZZsiCt major M3

[of=l]

B: m2lof = Set At AlnE g3lol.

[BHE] ‘melof AUS (U= S AF AIE G = 2lojo]=22 whileO|
I during2 TAIA0|22 Fof (Foi+3Ahel Ho| 2 4 o
o "ge ().

[012]] injure Cx|A| Sict

At 2 7t LR?
DU 2 MY 3R BUIX| el RLZL
BRE ORIX| Zed uz 4+ gl 2ke 50| =0fof

INEES
2 if not2| 2|ojol| siE5HE unless7t 0F XA HES (a).



[Part 1]
4 .
He stayed at the company, his
coworkers disliked him.

(a) since
(b) despite
(c) in spite of

If you a product that has been
damaged during shipping, call Customer
Service at 1-888-555-6354.

(b) will receive
(c) will be received
(d) are received

Learning a second language can be fun
one is sufficiently motivated and
interested.

(a) since
(b) whether

(d) in that

[Part Il
7

(a) A: | heard the boss is leaving the day after
tomorrow.

(b) B: No, three days after tomorrow.

(c) A: Do you know how long he will be gone
this time?

[Part V]
8

(a) Reincarnation is the belief that a person’s
soul returns to the Earth in a newborn body
after that person’s death. (b) The belief in
reincarnation is shared by many of the world’s
major religions. (c) Hinduism, Buddhism, and
some forms of Judaism support the belief in
reincarnation.

Ol

19 585

rlo

O

i
<

AHOIFXITE, J= 2 3lAfol HOIUNUCE

HIZtS ®S

F
et

S22 FHI SHH0| M2 HElEE 80|22 ST
AOICt, despite?t in spite of= & CF MXAZ & oz 4
gleoz (d)y7t Heh

coworker 5=

Il
»

S Soll 248 M S e Alolls, 228 AMd|A MEQ! 1-888-555-6354
o=

Z0f yoult BIZt0f M ZAt receives 55 HAHOI22 +SEQ!
€2 (= Hol 2 4 glon, AlZholLt 7S LiEtE 2AENE=
DIAIKIE MX| 47| wh2o SIRHAIXIQ! receive® MOF YSICt

damaged &&=, £ A2

H22=01E HPE A2 SE6| S7IF07E =0T 24o[ QATHEH Mo

g 4 otk

S7|12047F EofRln %*élol QACHH Ol2t= Z719| ofo|7t ofof st
2 giZtofl= ifof BH%%E Ol provided that (FH2f ~2tH)0| XZX5t
s nthat2 ~ek= Hoil AN 2t o

Zof =4
g =
\ oish FAER! 24E MAIE o M0l

fu
im o
ol

Ct(e.g. Human beings differ from animals in that they can think
and speak. ?17+2 M2fstn 2het 4 QICh= FHoilM SS3t Ci20),

sufficiently £251 motivated =717t £0iE, 225 71

(@) A: A E0] Ui ef mupdickn S2101,

(o) B: OtL, LIZ Z0i ML,

(c) A: olgolli= HofLt 2ah 7+ AMX| Fot?

(d) B: ‘B0 gictet thS3 Yo S0ted ok,
when, while, if, unless St 20| AIZIO|LE 49| HEATE MOI
SAE0IM= Ol AEel Y LIEHHCEIE SIHAINIE ¢t w2t
Al (d)2 if nothing will happeng SHAIXIQ! if nothing happens
2 MOF LET
the day after tomorrow 22|

(a) gtdolt =2 AR F20| M22 A2 0] Aioll Soteck= 50|

Ch (b) 2ol 252 Ml =2 Swoll osf SRE=T Ut (o) 25w, &

32| [oiwe] F3 EvF 2ol 1ISS XX (d) Shdoll et 2

0] 7I&E 1000 Afojofl IE=0flAf

(d)oflAf "gHilo] 70| = =N = =
71#T 1000 Atoj2t ‘:.‘:‘1 AL 2he UEE uktAZE o=t

2#H -Day16 A



in reincarnation are unclear, scholars believe

it originated in India during the first millennium

M2 Metelz W8O0ICH et F2AFEe] &A= Because LA
TS UEHLHE MAA Although S22 HIFLE 20| HXG|Ct

BC. [01=]] reincarnation 24 Hinduism &5z Buddhism £
(Because — Although) Judaism Rtz originate 7I¥sict millennium &
o o§ AP
I
Exercise 1. that 2. whether 3. that 4. that means 5. how
6. if / whether 7. that 8. she lives 9. that 10. what
Practice Test 1. (a) 2. (b) 3.(d) 4. (a) 5. (c) 6. (b) 7.(c) 8. (d)
------------------------------------------------------------------
1 2 k= I Aot 2soiA =301 2 AHeka 7|oRic 6 Li= U7t SEoll UE 015 L 4 A=Kl L1 201,
2 L= 1 HieIt 25 X 2 gX| SFolch 7 2 FAols X5 HEstoin LRk
3 U7t ok= A2 I 7t7t oiEA0|7 = ShXIEt kefE A REt 8 U7t olc| Al=X] Yof?
Ch= Aol 9 EXl= Saly7t dglo] £5sith= 2ol
4 2 R& XQIX| Lol YstEan? 10 U= MikeZt Heks| RS ot A=K 2220
S L= YSLIE AlEE oE FEX| Bao,
Practice Test p.251
[Part 1]
1 A: My boyfriend asked me if | A U ERIRISI el el
him. B: =slot!
: ions!
B: Congratulationst [a40] PAPEOIAS FEDE S40l AINE YlsH X0l BEolck 0|
(a) would marry Me ZEO| AM7E 117 (asked)0|22 ZAH0M= wille] S0l
(b) will have married wouldS A= 20| Ugich e (a).
(c) would have married [012]] decide on ~g ZHXsict major &
(d) am married to
e A: Excuse me. Do you know ? A: AREUCh o7IM 7HE 77k 0] OfCIQIX| Ot ?
B: Yes; it's right after the traffic light. B: Ul ASSES AU HiZ Q01
(a) the nearest station is where [6H&] 7FHOI2R9| g 2= ZXMoIch ZHHoE2R] o2 (Q2AH+
(b) where the nearest station is S0 +SAHOIH, OI7IM Foi= 7HY Ji7k2 9(the nearest
(c) where is the nearest station station)' 0|22 where the nearest station isQ| w7t Lgict
(d) where the station is the nearest [02]] traffic light (2S) M55

A184  Answer key



A get Michael for his birthday?

B: He’s going to university next year, so
maybe we should get him a new laptop.

(a) Do you think what should we
(b) Do you think what we should
(c) What do you think should we

[Part ]
4

is most countries are unwilling to

adopt strict energy policies.

(b) as
(c) if
(d) because

the marketing campaign
succeeds or not depends on our advertising
budget.

(a) That
(b) What

() If

No one knows the next tsunami
will occur, so we should be prepared.

(a) that

(c) which
(d) what

[Part Il
7

(a) A: I've had a terrible headache all week.
(b) B: Why don't you see a doctor about it?

(d) B: Maybe you should get a second
opinion.

The problem with reducing carbon emissions

Q

o o &
SURP SRV S

)

A: Michael 4 M=z 2 AoF &7f?
B: U0l thstoll stsizy, A =ESS AFROF & A 2O

OJ220] ‘Do you think [believe / suppose / imagine / guess 5]’ 2t
gok= Z0= 222l iAol ‘Do you think' 7t OtL|2E Q2 Afo|
Ch mefh] QBEARl ZHHOIREO| Oles WEX| %1, Q2AE 2
0ol 2t (SJZ2At+do you think+3:0{+SAh S| 01&0| &t FE
(@.

laptop SUE[-ES] AFEH

ro 4n :° ¥

B4 HIEES S0l= Aol AN =Hl= tEE9l LUz2ts0] &gt of
C

LIX| YMS RElSHE A 72t Aol

BlZloll= isQ] 20101 FAFES 0= FHADL 210F ok=dl, e
of Lizts0l Y25t of x| HRel MEts mEichs Aol 50| o]
t

Of ot22 ~ek= AAM] 2 siMEls TEAS thato] ZEGICE 3
;

reduce £0/ct carbon 0|Ast B4 emission HiE

be unwilling to ~571S 72t adopt xHEisict  policy & &tz

A Q10| Y5t=Lt DiLi= 22(9f I oflttoll AT,

0] OEx|gf 220f or not0| 401 Zie=2 0|20 ~YX| OfLX[ et
= S AE UEH= F&AL whetherZt EosICE (d)9] If=

[4ez= ZXT T MOl HAREoll= XX 20 whethers
2k

depend on ~0f 22 It budget o4t

3 S ThE 2u0|7p X SR 227] t2o] f2l= tHIE sliof

& THS Aozt x| Lyex] B0 eks 50| 0fof Xj¢d
o

22202 ()7t FH. thate ~2le AT o Koz a4y

=
x| etom, gzt 0]29| the next tsunami will occur?t &t&ist 2%
0/22 whichLt what2 & 4~ @iCt,

be prepared (for) thulsict

5t = LHL| of2|7t AlsiA| ofof,

=
A0 QA= BHRI0] BX| ZEZUCH,

%
= o|Afpte| ZIES BiH Cf B0} we |

0P
o

24 2ot

N

0z

Ol2At whiche €849 O 'S 22 f A7, what2 £&4
o ‘2o’ g 28 uf £rf, (c)2| which the cause isOlME 2S5}
F

‘PO 0IX|E UZE 20|22 what the cause iS22 MO



[Part V]

8 (a) Since 1998, the number of married (@) 1998 o= 2RO 47t UASHD QUCt (b) 2Lt HRES| AFES
couples has declined. (b) But most people ZEg E2F QM SR M JIX| UA| dztsta Qe (o) W Aziols, ot
continue to value marriage as an important life =7t QIMojM Mo{= SHHES 225 & Zolch (d) AlRS0| 222 &8t
goal. (c) In my opinion, the majority will get A MZISH= 0|8 = SiLts Z50| aSo)/ MAEC! 20| YXMS xlZst
married at least once in their lifetime. (d) One CH= Zio|ch,
reason people value marriage is what it can ) o )
provide them with a source of emmal [512] whatzt that2 25 FAES IJé:# S’f'lI”J, what2 1 TWW e

AFE LHOILA 2201, =X0, 20 g2 57| 2ol 1 & SHi7t b
support F EeHHEt MS 0[ZT, that® SIS TS OLECE, (01K is Of3f
(what — that) o] 2T SAF provide®| 0|, 207} 25 m3te s Ho|o
2 what CHAl thatS MOF XE5ict
[012]] decline Ztasict value ZL5HAZIR| QA MZtstct majority
CHob prowde A with B [provide B for A] Aoil7| BE HI35tct
source 2%, & emotional YMEQ!I  support XX, =5
DAY J-ll_ IAI' 1
I
Exercise 1. who 2. that 3. What 4. whose 5. that
6. whose 7. that 8. of which 9. who 10. What
Practice Test 1. (a) 2. (b) 3.(c) 4. (a) 5. (c) 6. (c) 7. (b) 8. (c)
------------------------------------------------------------------

1 Olsha B2 77t ok A2 £2 dolct 6 9 I 0] A0A ZDmatn K{HXIC

2 e oi™el 7 Al7F ofLet, 7 W7t ot et7kXl= Ul OFS0| oixil d=3HK| Y= 7ok

3 Ut Yotm 42 22 izt 20iAl 2IX|E 4~ gltks Aok 8 LIz BXJ 7ol S St A QloHFIC

4  2s< 2 tlg20] 100HES ZueiX| Y= Sl =80 9 xR9 A™E Axloh= MHEE Yol Zal7|7t o Eck

5 Bil2 g 2t g gl ASES stadT Sk 10 Yol M2 Zest A2 S8E MRD AXst= 7ok

Practice Test p.255

[Part 1]
1 A: Who is that man in the white jacket? A: SIQF ZHZIE T U= N HAls F701?
B: That's Doug. He’s the person B: Doug MO 22| AFE7F 1% o f s2lsiFAl= 200k
fixes our computers when they’re broken. . _ o
[GH4] MEAT} the person22 AH0|12, FO| FEAFHOIA fixese| F
(a) who 74 ei7] W20l 0 As sh= AUNHAF whoot MEsiC, FE
(b) whom 2 (@).
(c) which [0f=]] fix #2/5lct broken 1%
(d) whose

A186  Answer key



A: Are you coming with us to the movies
tonight?
B: I'd like to, but | have a final report
is due tomorrow.

(a) what

(c) of which
(d) in which

A: Why do | have to wear all this safety
equipment during our science experiment?

B: Because
dangerous.

we are doing is very

(a) which
(b) that

(d) whom

[Part 1]
4

Because of many bad investments, he was
not the wealthy man used to be.

(b) who
(c) whose
(d) what he

She is the girl father died in the

car accident.
(a) who

(b) whom

(d) of which

Every voter will select the candidate
he or she believes is best
qualified for the job.

(a) whom
(b) which

(d) what

A: o B3t MEg

.

A 2
B: 7t

rr oz

op]

2
Al
fi=s

21 Hat 2af Z HHop?
X2 LH7EX] sHoF Shz 712 2|2ZET} QU04,

B

MEALTL a final report2 AFS0[1, FHO| SEAFENAM isQ F0{7t
BRI D 2 A AL whlohﬂ ottt ML (b).

due (M) ~ot7 |2 =oU=

=

= ¢t ol oFd FHIZ Z&slHof Sl 7oF?

5| 5
B: 227t &tn Qe

MAPE M2 gln O ARHZ ~She A o= siAstE ZR0ile M
ALS EESHE HAHEAL what (= the thing which)S #Cf, YY
2 ().

safety equipment oFd |

w2 ZRE X2 Q6 a= o9l J2iet £Xt of AT,

JJ 0|Z0f the wealthy mans $4lcle S&AFE0| 2f0F StH,

‘ool a2f3E XY £ the wealthy man that he used be2 Lt
Etdl & =0l O7|M 20 FEg ot BAIUHA} thatS A= 7t
Sol2& thats 2totH ()7t Aol ot
investment £xt  wealthy £3st used to
~O0|ACHACH

O

~ol QUCk olEol=

2 Al9] ORI Xt AfnE EQUCH

=
ol

o
0 o

YA+ the girlzt fatherQ] EAIS 2H "7 AL49| OHAX[ 7} E[0{0F
2 g7t AR EAUYADE MHSICH of whiche ARZA

§R01 X0[XI2H MHAZE A2 FR02 sig=ez ()7t §

o
O”

uss

]

rn

EEAS2 2 Lol 71 HYol2tn Wi SRS MEE Aot

z

A7t the candidate? FQ| HSAIEOIA isQ 0 Se2 5=
SHPAHEAF who7t YT IS = EACHEAL Fofl (04
e or she)+SAt(believes)) Q| LRI} LIQF ZMARACHHALZ AjZt
F T29=2 the candidates2

).
0[0|

=l

=

ol

Aske

7| &XI2t he or she believes= 4
Al (=3
at

k:iok:i
o] ofgoll Zlgtct, Hefe (©
pS|

%

candidate 2= qualified for ~oi|
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I
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[Part Ill]

7 (a) A: Hi, Pete. How was your weekend? (@) A: 13, Pete. Bt & QI 01E7 EHl0f?
(b) B: I watched the movie you’d mentioned (o) B: W7t Hof| At Hals ZHod.
it before. (©) A: MOIUAL?
(c) A: Did you enjoy it? d)B: € a2ln E4 a7t HAUN
(d) B: Yeah, and the special effects were ) i _
amazin [514] (b)= you'd mentioned 0[57t the mowe% 5f TEZ2 the
9 movie Flofl SEZTAHHAL which [that] 7+ A42FE SEHOICE Ofuf
(mentioned it - mentioned) SHAMAUENE AR 22l 2% You had mentioned it
before0fAl itS CHAIGH= Z{0|22 itS #1 (which [that]) you had
mentioned before2tl 3{0F Lgict
[012]] mention Z5ict 2iZatct  special effects E4- &ut
[Part IV]

8 (a) Self-directed learning is an educational (@ A7| F= stE2 254 stuo|A 2712 ¢ Qe g Fso|ct (b) Xt
philosophy that has become popular in today’'s 7| & k& AJAHO|A SHMSES & O B sl RS F2 4 ULt (0
schools. (b) In self-directed learning systems, OS2 stuoM ZRE 1258 MESH, oM £HZE BYXE ZHe
students are given more academic freedom. (d) SHI2A] MBS 42, 0] Ma2 Xj2iAl #Melzt J2|u oRAS HeA
(c) They choose the subjects what they study & Ziojct,
in school, and decide when they will finish -

) ) ) [5H&] (c)oliM they study Oletz MHAIRI the subjectsE +Alote &
their assignments. (d) When implemented
. . APEHO|Z2, BAMEE 0/T1= what A SHAZANHAL whichLt
correctly, this philosophy teaches )
) - thatO| {0 MEsICh what2 MHASE ZX| 2o, 1 THZE ~
independence, responsibility, and ) )
. St= A (= the thing which)22 SHAJEICE
accountability. _ ) . - _ ,
_ [012]] self-directed xt7| &= philosophy Zs! academic 522 &
(what — which/that) 29| implement Alsict independence Xi2i(x)
accountability 2/2(Z)
9
DAY ‘.:I' 7‘"A|' 2
I
Exercise 1. where 2. when 3. when 4. why 5. how
6. for whom 7.the way / how 8. when/on which 9. which 10. Michael, who
Practice Test 1. (d) 2.(c) 3. (b) 4. (b) 5. () 6. (c) 7. (b) 8. (c)

Exercise f----------mmmmmmmmmo oo p.258

1 QEulol &Y 4 = AHulg Yol 6 RVt 7icie[E AIMEE =Tt

2 7t 15eYoIUS mf Li= Chetdo|ic 7 f= UZh 2 g2 e gAjo] 2ol SX| ot

3 ZY0| U2 EXXEE Ul EXUt /ISE AlZ[oll SXteiTt 8 a2t Mz ST g 7I1dal?

4 L= 47t of O Zok2 gXtet Hlo|Est Aofst=X] e, 9  Brown M= 27t 2000 mf MY Hals| L=, AR

5 IS e 2= FEofof sk= Ao|ck, =0l 27t d3sk=dl 7|0Ric,

10  Michael2 28 & ofL|at BNXE w27| tho] 1 &=

A188 Answer key

aEC Gx| ok



[Part 1]
1

[Part 1]

4

p.259

A: Where do you want me to deliver this A: 0] AXZ 0fC|Z HiEsl =277
package? B: X7t Yatn U= Park7t 122HX|0f = wHo=@,
B: To the building 1 work, ) o R _
located at 122 Pm. | work in the building0| %= #30|22 BIZoll= in the building
2 A5k in which == where0| 2f0F 5t MX|AL HIZ FHoll=
(a) that ACHHAL thatS £ + glesz (b)= Eol 2 4 gtk FE2 (d).
(b) in that
(c) to which
A: Why was the soccer game canceled? A off £ F717F Fa & 7oy
B: Because the field we usually B: 2|7t & Z7I6ld Z7|H0| 2SRE HEEAN.
play was damaged by the rainstorm. ) _
we usually play on the field2t MOF 5t22 the field on which
(a) that we usually play ©= the field where we usually play2t1 S0} st
(b) which Ch mekM (o7t FE.
rainstorm Z3<
(d) of which

A: John, how was your language program in A: John, FHLICH 018t A= 05047
Canada? B: ZUXI U7 HERHTE ®o| 71550] &5 U0
B: Great! The family were very . _ _
] - giZtofli= The familyS $Alste FEAE0] 240F ot=Cl, FEAEC
nice.

2 2HE ATEH | stayed at their house0|22, 0|12 HEAK
(a) house | stayed 2 1X|H at whose house | stayed E&= whose house | stayed
ato] Ect. olofl sigat= A2 (b).
(c) whose house | stayed
(d) | stayed at whose house

This is the house ,Soithas great  01X2 TIEZ0| EfOI'h Eol2hM, B2 AR QoS X|Uu QICk

historical significance. . ,
g 31710 = the houseE sAlots FEAFEO| 2f0f sh=tl, FEAES]

(a) in the President was born e 23S MmEH the President was born in the house0|=22

012 YEAEZ 1IX|™ in which the President was born / (which
(c) which in the President was born [that]) the President was born in / where the President was
(d) the President was born borno& £ 4= Ut 0loll siEst= A2 (b).

historical ARl significance 2/9| 524

ial
1o
0z
10
40
E
i
©
W]
(o]
>
2
Y
%
<
21
fiE
2
I_I

The Employee of the Month award went to (l=gel <2l 3lAe ZHIE
Don in our department, deviseda £ 4 Qe dotg ﬂo_féﬁ?iﬁt_

plan to help our company reduce expenses. L L
in our department= £A|0{0|22 MElAt= DonO|H, SEAE U

A
OlM devised®| F0{7} tHUS D2 FARAHHA who?t ZHE5t

(b) that Ch that= FHAUEAZ 2 = AL F0K,) FolM ZAlLH
(c) whom 8YoRE & 4 gleoz MY (a).
(d) which devise 12t5iCH  expense 4|, XIE

2#E -Day19 A



A car crashed into a light pole,
caused the car to flip over.

(a) who
(b) that
(d) what
[Part Ill]
7 (a) A: Do you know the girl in the blue dress?
(c) A: You mean the girl who stepped on your
toe while dancing?
(d) B: Yes. But she went away without saying
she was sorry.
[Part IV]
8

(a) The solenodon is one of the rarest animals
in the world. (b) Found on the islands of
Hispaniola and Cuba, it is especially unusual
because it is one of the few venomous
mammals on the planet.

(d) This venom has

helped the solenodon survive for thousands of
years despite its small size.

A Answer key

ASAt Bith7F MS S, 22 sk I XISATH HERC,

El
olct, OW% *WIEH“:‘N %
Rofl= ¢

thatg £ = ¢l

light pole %5, 7128

A7} £
Ce AR
271 g

[
yu
o

(@ A: 4 x7] o2t =2A 1 Q= GXfof ot?
(b) B: S, YU, 147} HI2 L7} LS| ZRHE odxtofor
(©) A: EFCH U L 9UCH= 1 ofXtof ZoloF?
(d) B: 8. 2l nleksicke Y= glol 7HHZ! 74 QIR
(D)oIM MHA} the girle] SEAFEQ! that | told you?| 22 2&S
ATHED | told you about the girl0[0{0F SiTt 2t (0)2] SHZA}
Hofl MXIAF aboutO] USSR ATHA XA (that [whom)) |
told you about E£ about whom | told youztil sHoF atrt,
step on ~2 &ICt toe E7i2t
(@) Z2le=2 MAIM 7t 5l9et &2 & ofuoltt (b) slAntL|Satelnt
oA L= 0] S22 XIFANM E O El= =0 Yl 2R 520(2t
= HoM SE3siCh (o) £2=E2 ULIE Bl Ho|S SAGk=, 1 o
2 20l 7Y =2 FUAFICE (d) 0] =2 Z2le=0] A2 ST S+ot
1 = E Seto|ut MESH shFRACt
)= EEA

Pol MeyAtoll chst 27t8el YEE FEe AlaN gHel
o, S0K,) Foll= AHBEAL that0] MU 4 Qlon MSA} its
front teeth0| 22 thatS which2 1X0F Y3ct

solenodon &2cE, LRE ASS(REE)
(MRl K=ol S22 )

Hispaniola 5lAnfL|Ezat
unusual =2 =58 poison SAsICt

prey 20| venomous =0| %= mammal =3

~0fl &2 Ttk ~2 S0l S

S= groove

2oi71R0]  inject st venom

= survive Aopdct
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DAY =T e
I
Exercise 1. that 2. What 3. have | 4. Neither 5. does
6. that 7. How 8. did believe 9. as much as you do
10. could | endorse
Practice Test 1. (d) 2. (a) 3.(a) 4. (c) 5. (d) 6. (b) 7. (d) 8. (@)
Exercise }-------------------omommooooooooo oo p.262
1 UHdol ARE =1 gtk A2 WE2 A2 2t e B FESS S| thE A2 2ot Dot A 0] OfLACt
Of M AT, 7 dots2 & AT
2 EotsScH2 J2o|LH 8 1 zZ=2 19| o] of2slE|LE 2n2n MAE Sab & Zolat
3 L= Z3 17 xI2et aE 220| gict o AL
4 A Ot Rog YAl e dXl 222001 9 L= HEE JeanS ARZSH.
B: L= 22301 10 L= ofd Z0l= 19f 22 Yuist WY HelS XIXIE 4 gict
5 s XK Hof dish el EBE SIX| Y=L
Practice Test p.263
[Part 1]
1 A: When did you decide to open your own A: O Ul ARIS AlRFst7 |2 AFEE Aok
business? B: X2l u o 2ol 2RO

3

B: | made the decision.

(a) Just after | lost my job that

(b) That just after | lost my job

(c) That was just after | lost my job
(d) It was just after I lost my job that

A: Hey, John. Did you print out the report |
asked for?

B: | , but the printer is out of
order again.

(a) tried to

(b) tried to do
(c) tried it to do
(d) tried so

A: This soup is so cold!
B: You're right. !

(a) How terrible it tastes
(b) How terrible tastes it
(c) What terrible it tastes
(d) What terrible tastes it

[B1&] 2= F22 It ~ that2] FEIZ, It thatAtolof Zxdleds 7S
o{Al ZBEE 4 Tt 047|M= just after | lost my jobS Zdxat
Qesz (d)7t Me.

A: 0lgh John, L7t SETH Hn A S23H0{?

B: st =l Z2IEHE DE Hof,

[GH&] toRHA} 0[5tY] BHEEl= 0fFl= to7hX|BH AT M2FS 4= Qli=d| 0]
2 tie™ARtD sict w2bM tried toZt HEO|H, to 0[5kl print
out the report7t AEFE|UCE

[012]] out of order 1%

A: 0] o= HS Xt

B: %foh. Hg oteich

[GHE] HBAILL BAIS UXSHs ZEE2 (How + EEAH BAHF0{+

SIC 07|M tastesel HO{QI FEAt terrible2
231 9282 How terrible it tastes2| 0120 HESIC,

=
S
Ay

=]
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[Part II]
4 :
No sooner cleaning the carpet
than his son spilled grape juice on it.

(a) Henry had finished
(b) had finished Henry

(d) Henry finished had

this is!

(a) How expensive car
(b) How an expensive car
(c) What expensive a car

| made a lot of money investing in the stock
market, and

(a) can so you

(c) soyou can
(d) you can so

[Part Il]
7

(a) A: | can’t believe Tom and Lisa are getting
married.

(b) B: Why? They're a nice couple.

(c) A: No; they're always arguing.

[Part V]
8

(b) Too much
communication can cause stress, confusion,
and lower productivity in the workplace. (c)
Some large companies have tried to solve this
problem by hiring communication managers,
who manage the flow of information. (d)
Communication managers create systems to
streamline incoming faxes, emails, and phone

A Answer key

2 ZAS BUIXE OEXF 29| 0FS0] 2 9lof| = FAS ATRCE

i

Henry7t 7

#2l= Henry had no sooner finished cleaning the carpet than
0|AE 2F0IM no sooner?t AxXE 25
Zolt no soonerB% 20| 2H0{7F ZZRE0 250 2 29 Foet
Q= FOIRt SAE AR)SA+F0)HO QEE 02 =X=HE2
21Zt0ll= had Henry finished 7t 2f0F St

no sooner ~ than ~atxfofat -5tk spill YxI=Ct

his son .. | M1 2

of . FEAILL AR
(How+%%*f/?*f+¥0ﬁ+5)\}>°\ (UESUPNE
moll= (What +a(n) + SEAH+ YA+ 0+ SAE
car= 2 & Uz BAOIEE whate2 AAfsh=

0f What an expensive car?} 2{0F 29iCt

[
A

og MO W not

W 1o oo W
>
|

M o
i

O
MO

A Aol FRfsHA G

rr
i
b
e
+
20
(=]

U 2 £8 BT, P4l

= (S

OLM oZE L0 il ~= ESH JZIC 2= ojnls
Ab+Z20) 2 LIEHHTL, Qlof 2k Ugo|

B2 so can you?t HMAG|Ct

YUE 1Y NES E 4

invest (in) EXt5ICt  stock market 4 Al

A: Tomit LisaZt Z=9iCt] s 7t gloq,
B:of? 252 DE* ATl HZ0(|Rot
B

t 22
: EH’C%*O% = Z&E 2alolX| ¢i2 o), 2= DXL D,

neither F0ll (Z)SAt+F0DE KE N SigE 29 LSl of

5 ‘~= ESH OfLCE 2t ojo|7t St kM (d)2] neither she will
il shel F0{2F SAZF E=X|E HEHZ TAMOF LRI

argue st

2 neither wi

FofolM= BeElE SYet ol7E Mafshs Feol U=d|
Lt beSAt 0|29 BH=El= Of7l= ezt LESA= =S do

2 tjAlstc}, (@)= 22 People communicate easier and more

Ml



calls, which helps companies maintain a
manageable level of communication.

5. (a)
15. (c)

1. (b)
11. (c)

2.(d)
12. (d)

3. (b)
13. (b)

4. (c)
14. (b)

[Part ]
1

A: Did your student cheat on his math exam?
B: He denied having cheated, |
don't believe him.

(a) so

(c) or
(d) for

A: Why was John fired from his job?
B: I'm not sure, but it is said
company funds.

(a) he to stole
(b) of him to steal
(c) that he stealing

A: Did you know that in some countries,
people eat snakes?
B: 1 wonder !

(a) what like that tastes

(c) what does that taste like
(d) what like does that taste

B: Me, neither. We did exactly
he told us to do.

(a) which
(b) that

A: 1 don’t know why the boss is angry with us.

often than they communicated in the past ... 2 2|0j0|22
were= communicatedS tHloh= £EA did2 1H0F LRI

streamline (A[AZ!- =%

productivity At workplace =& ESS
S2) tAssEssict incoming £0/2= manageable 22|z

/xR 4 U=

p.265

6. (a) 9. (a) 10. (c)

16. (a)

7.(b)  8.(a)

ol 3t AIolM 28 dLIE MERCIHMR?

=
B 242 SOIX|TL X 1 LS YK Y0lR.
M YIS 11 AUCHE BT IS BK| ks
H QISI7} A2 Al Lol ()7t 7k AEsic

cheat 2% &®laich, 7dsict  deny £ol=H]stct

A: JohnO| of si{a1E Hof?
B: 2 222X|et a7t AL XiZs SR,

it is said Foll= 150121 that&0| 9%)\1 ‘~0[2tn Bt ek o2
Molct vt Sl RIZE a’iﬂ% Ysix|= LHEol=2 izt
Oll= that he stole0| ZESIC HE2 (d).

fire s sict fund X3, 713

H\O\Ef VIR RE (RAI+F0+ S
7t 2tn 22 M= what ~ like2 LIEF
HHCt, w2tA OJ2AF what Fo F0{ that, SAt tastes®| 0{==0| 2
o, o ofx|efe R like7t 2ok k22 (0)7F HEo|ch

what ~ like ~= Hstot

o o
<
>
njo
Mo
rr
Ho

A AFEEZIA et R2[01A 37 LHAEX] 22304,
B: L= J2i, AP0l (ol 25

k= St Zolof,

MEAPF gloz FZAEE olne (@)t d )“ A HMel=o &
= U= (0)ef (o)l 7hsets \ 7t 0l=0f tolde| =&
2}

o
=
07+ Rl ERAEIEH Ho| RteB2 what0| A&siC, HEE (o).

=4m - Review Test 4 A



5

6

(d) whom

A: Do you know the name of the hotel
we are staying in?
B: | think it's called the Regency Inn.

(b) what
(c) where
(d) in which

A: How was the party last night?

B: We

(b) do
(c) had
(d) have

[Part II]

7

enjoy it very much!

We didn't finish the project on time, but the

important thing is
job.

(a) as

(c) what
(d) because

Tara likes comedies,

science fiction films.

(b) otherwise
(c) rather than
(d) however

He is not the type of person

we did a good

Jack likes

makes a promise and then does not keep it.

(b) which
(c) whom
(d) of which

Answer key

A 227t 51 U= &2
|

B: Regency Inn0

237t 1

o

o

IS 2of?
Z

2t 5t Zot,

rr
S

0%

HALZL the hotelOl L F{of TIXIAL in0] UASBZ ino| =0 A
= SXATA YA which £= thato| HHESICH HES (a).
[l where2 (MX|AM+ZALHEARRL 22 20|22, where
0= inO| tx{OF BiCH

5

mrEomo rx
22
4
>

s
o

217+ F2| enjoy7t SAHEE0E2 EI01| PH%M% £=8I5H= hadLt
haves 2 & g0, ZEAt do7t Y &M%t = =2
2 SAE Y=ok 2%0| Eot ofu, 70*59 do= % AlMof| et

do /does/did=2 HIFEE OAIEe] Lo|2z DHAMRL did7t &

IS MARIIE BUX] R3UXIEL S A2 REIH L2

ol
o

St sliitkE Zolet.

Tara=

~

SAHEA whatTt H&AL thate] 288 2= =M, & O
ohe A 0J2k siM=X|D, HEfdez BAUNSEAL what Fol= 5

of, = CH E01 SO il Z2Eet & 0] 211 HEAf that Fol=
‘9F

st &' 0| 2Ct 817F 0]=9 S% didel F0{2t 507t 25
SEEHE &S HO|22 that0| XA HE2 (b).
on time HAlZtof
T0|C| F3tE Z0t6kRIEt Jack2 SauetEstE Z0t6t,

MZ HEthel LH8E oloprlotn esz Cixel £ L= &
2} whereas?t 71 HAsICH HHE (a). ()2 howevers &
SAIZ A ofoll B&£EX| 2om, 2AXst F Iiel 2% AZ wol
gt MQICt(e.g. Tara likes comedies; however, Jack likes science
fiction films./Tara likes comedies. However, Jack likes science
fiction films.).

science fiction film 34 15t Jst

J= &S of1 X|7|X] 2= BFO| Aol ofuc,

=

MEALZE the type of person0|H, F2| HEAIENA makes?| F
o7t MU D 2 AlRS LIEHHE FHEAIHEAL who?t MASITE
YL (a).



10

He invented a device that reduces pollution,
is now sold in most department
stores.

@) it
(b) that

(d) because

11

that the company was being
investigated by the government for tax fraud.

(a) Little we knew
(b) Little knew we

(d) Did we know little

12 caught the burglars in the act.
(a) Of our next next-door neighbors
(b) As our next-door neighbors
(c) Our next-door neighbors that

[Part 1ll]
13

(a) A: So, did you win the physics contest?

(c) A: That's too bad.
(d) B: Yeah. First prize was $5000, and |
could have really used the money.

14

(a) A: | think it's unfair that John received the
biggest salary bonus this year.

(c) A: | disagree. Did you know that his
grandfather is the CEO of our
company?

(d) B: Really? Then it really is unfair!

RN

%XH [Hl:l‘:iol =]

o

LHEY M= a device= AIZ0[H, MAtof oiet 2715 22
ot 74X 8Ye= 0K, )7t 4Y HR0= thats 2 4 gles
2 giZtoll= which2h 7kssitt HE2 (c)

o
@
=
o
®
ol
Rl

2= I M HF AP

x| RC

golz R ZAS B Ath=

o
1o
NJ
o
e

that 0|59 AMAS ‘7{9] =RICE 2= S£0| 20F stl22 We little
knew= LIER 4 QICt olmf £Z0iQl littleS &

& Qe 2ot &

X7t LofLt (RO +(
Little did we know7t S,
investigate ZASICt  fraud AP7I(Z)

o B F0f Xf2lof HRIAFIE 24N
t

&

: 82| ZAI BBl0IA P& ZOf?
Ol =2i2 20| 2T A4S 55 2o}

LX) 24,

KX
[SURP SRV

S. 152 <301 500022, 1 == RE3MI £ + U=

i

‘mo

of.

AEE > Qesz (b)o 282 A
= LHE0|22 although /though /
but & AFEsHf Although [Though] | put in a lot of effort, ... &=
..., but I only made 5" place@t 20| £ 4 QC}.

put in effort =2 20t

b H2 AZA glo| oK)=
‘ (o]

2t F HO| Mz it

KSINC)

(22
W x o »

)

el
Y
o
0"
_?_
B3

0
QO
ro
02
>
2z
fjo

MEAL 2 go O XRE
‘~ohE A o2 AEICt (b)oils MBAIR anything0| A==
what CHAl SEAEE 0|= ZAEAL thate2 TX0F LTt

unfair 23%4s! 25t

=4m - Review Test 4 A



[Part V]
15

(a) Many students experience academic
difficulties during their first year of university.
(b) This is mostly because in university,
students are expected to be self-motivated.

(d) Therefore, it is important that first-year
university students come to school ready to
work on their own, without guidance.

16

(b) After visiting India
in 1959 and studying Gandhi’s teachings, King
made it a rule to never use violence during his
protests. (c) Throughout the 1960s, King and
his followers were beaten, spat on, and
arrested. (d) His peaceful, non-violent protests
led many people to support Rev. King, and
would eventually lead to new laws protecting
African-Americans.

A Answer key

(a) 22 SHES0] cidti 1513 SOt 3iio] of2iS Fi=Ch (b) 01N F2
st ME S0 Ar2 =720} =7|2 J|chstr| th2o|ck (¢) 1S58t
o WAEDRE gl n4E2 S DRIYS I IMAFAIE e, of
© EE5 RS JI20IXIE 2 Aol (d) 22{BE, ofst 1siAdsS X
= glo] 28 AA= ZRE FH|7F E A sfumol 2lof St

()0l nor2 £Ho{0|22 HO| M Yol 2 B FHoll (R)SAH+

ool =xIE 0je0l wa2tecth matA nor they will give= nor
will they give= M= Z40| HAESIC,

mostly =2, Yoz self-motivated 242 57|15 2ofsl=
remind A of B Adfi7l BE 47IA17Ict  due date otzY, oY
give attention F9|E 7I20ICt on one’s one AAZ; EXtA
guidance X, ot

o Nz
o
n
o
H H-U
H
inoc
32
(=]
=
_O'\_‘
>
I
]
1o

(@)= who was 0[at7F FEAIEO07| R0l 22 MAQl SAt 6l
= Yefol 2&olct w2t who wasE was2 11X XSt BHO
2 DHS0{30{0F Stct

influence ¥ #ct make it a rule to ~st7|2 Hsict

protest &9l (23) A%
FEAL ASKE

throughout ~&¢t = LiLf  follower
beat wz|ct ) Litic

siCt  non-violent H|Z2{z{0l
(o Znk=) =ich ~9f 212lo] =|ct
=2l(0]= =2)

spit (&-24 58 arrest A%

Reverend (Rev.) 24 lead to

African-American otz2|717 o]



Actual Test 0.268

1. (a)
11. (b)
21. (a)
31. (d)
41. (c)

2. (b)
12. (d)
22. (b)
32. (d)
42. (b)

3. (b)
13. (d)
23. (b)
33.(a)
43. (d)

4. (c)
14. (a)
24. (a)
34. (b)
44. (b)

5. (b)
15. (d)
25. (c)
35. (b)
45. (c)

[Part 1]

1

A: Where is the post office located?
B: It at the top of a hill, on the
north side of town.

(a) stands

(b) is stood

(c) will stand

(d) has been stood

A: Canyou tell me
mountains?
B: Well, I love the feeling of being on the top.

you climb

(a) if

(b) why
(c) that
(d) which

A: Did you know it's Jill's birthday today?
B: Oh, no! | didn’t buy for her.

(a) nothing
(b) anything
(c) something
(d) everything

A: Look at those puppies in the
grass.

B: Wow. They look so cute!

(a) play

(b) played
(c) playing
(d) to play

A: Did you buy a dress for the wedding?
B: No. Many dresses to me, but
| couldn’t find one that | liked.

6. (d) 7. (c) 8. (d) 9.(c)  10.(c)

16.(b) 17.(c) 18.(a) 19.(c)  20.(b)
26.(b) 27.(c) 28.(b) 29.(a) 30.(b)
36.(a) 37.(c) 38.(d) 39.(d)  40.(c)
46.(b)  47.(c) 48.(a)  49.(c)  50.(d)

A SAH20| ofclol ULt?

B: 0f2 =% oig 9jof Qloje.

[641] stand (YIRBHMIRICHE RISARM 2HOIZ ZX| o= SAo[n 4
Sej2 MX| eerh B 2A=0l YXE 21 Yoma AN
Sl MES (a).

[0/2]] stand (Sx3t 2ol) SIIEHUIICH

2X0|ct Bel SHOIAM S4
=N =

= =
5% OlF0f cifsl ’S%‘éfﬂ P dz0il= of of
= LiZ0[ o L5t (

[012]] climb a mountain S45ict A2 2@2ct

A 250] Jille] 4Ll A LUof?
B: O[3l OFRA= ARX| U=C

S MmTHL
UUCH = L4E0] 0[0]
SY=R0M=

[514] Oh, nol2i QIX|1 Qo822 ‘OfRAUT AMX|
MoF XFHAAZLE | bought nothingS2 & 4= UK
nothing CHA! anythings 2L HE2 (b).

[G14] playS 2AF EIZ WA HA puppiesS FOIA A6k 7&0|ct
ZOtXIS0] playel FH0|22 SXHEAR! playing0l ST HEHES
(©.

[012]] puppy Zox|

- Actual Test A197



(a) showed shows= "2OFCY 2h= S, oi7|M= F0i7F Eea0|22 Bz

Ol= be shown(20X|CHe| £Z&0| 20F otH, 1A Yo|=2
(c) were showing were shownO0| HZsiC HE2 (D).
(d) have shown
A: 1 didn't finish the report on time, so my A EIME MAZH 2 LA AFRHO| LISt SEE X410,
boss yelled at me. B: LigteH 2E[IoH coifig Hid|,
B: | you if you had asked me to. ) _ _
—_— il <had+p.p ) EH7F M¥eo= ni7f ARdol Cfet BiThE 7P<‘3
(a) helped Sh= 7HEE migte EEYS o 4 Uk w2t FHEol= (ZSA
(b) had helped 9| 1A +have+p.p.) EN7L 20k S22 would have helped7}
(c) would help e
on time HMAlZiofl  yell at ~0iA 2SX|ct
A: What is Jonathan doing at our dinner A: JonathanO| C| THE[0] of A= HOk?
party? B: 37, 27t Q2QJeich=s 2 Y, Wt 25 mhElof ZOHRK0.
B: Well, he was lonely, | invited o oL o Ce S
him tom %M—?‘%QLI 712 888 2= 2HZ, 12 know?t 55 0|22
gIZtoll= STHEAIR! KnowingO| 2f0F LStCt HES (c). (d)2f toF
(a) know A= EX9] ou|g LEHHER SX] Ut
(b) known lonely 22
(d) to know
A: Do you play any musical instruments? Ar 7] HiFat= A Uof?
B: Of course. the piano since | B: 220X, ({2 W mot=s FO.

was a little boy.

ol

ATHREZ AIH7F forlt since@t S71 A0|H TEASRE} SXH7IX] AL

r

(a) I play = HEHE BHck=l ORS WRH FX7IXICl 7|2ts Zefsiez
(b) I played SIHRAZAINE MM LiEtE= 20| MEsiCE (a), (b)= oIl =
(c) I'd played DA 2otel= OJnlE LIEMLH0] MEX| 4o, (o) Al EX 1t
A AE7IRRES LEE2 @F 0]
musical instrument 27|
A: Why were you late to the meeting? A: 39J0f of =2 70F?
B: | was late because | stopped B: xt7b & U ARE -2t =01,

a man whose car had broken down. ) L _
(stop+-ing)= ~olEl As HFCH 9 LOIXI2H (stop +to doy=

(a) help ~at7| Sl YELE ke 50| Eot o7 M R nE U MRS
(b) helped =7 ®loll @E ZE Hx0l 2o = =RACk= 2n[0|I2& to
helpZt 2tof MEstct HE2 (C).
(d) helping break down 1% Lict
A: Guess what! Megacorp has hired us to A: UTOH MegacorpOiAl CH2 &1 OPIE AIQIS Al&lsk=dl 2§ 1&
plan their next marketing campaign! SHCHI
B: Wonderful! This is we have B: HZIM|l 22/7t 7|cteld 2 nziojoH

been waiting for!

BAD} TLE SO 442 ol 1 o7t S tioR FEE o
(a) big client Ol= SEAL theS Mg, 7wi ‘2t rlctele 1 nzg It
(b) a big client 217|122 the big client? MEGIC FE (C).

Answer key



11

12

13

14

15

hire 18aict client 12 222!
(d) one big client

A: The homeowner changed the design of his  A: TZQl0| CIXIRIS & HRUO]!

house again! B: TAIRIS Al vHL7L 7t M2 fok= Al 2R 22704,
B: | don't know , because he
kdo ! ho ind the desic HHOIRR oeg 2= EX0ICh HHORES (Sj2Al(what) +
eeps changing the designs.
bs changing 9 zoi(h e)+5M(wantS)>9l 001D, 24t really’s wants® 13t
(a) what wants he really B2 wants 0l =2/t 2t what he really wants7t Eg.

homeowner 501
(c) he wants what really
(d) really he wants what

A: If we are going on vacation, | will need a Al 7S 7HE A ol 7H40] SHt HRsl,
new suitcase. B: 2?7 L7t stih HeiE 4 01,

B: Really? | can
Y lend= 44| SAZ (end + ZFESHHAR) + TS HA(AE), £

(a) lend one you = (end +ATSE0 +to + 7S E0) o HEfZ £ 4= ot Hof
(b) lend to you one A siit HedE7| el= 501 =/0{0F 5122 lend you one = lend
(c) lend you to one one to youz & 4 Qlct HEE (d).
suitcase 0 71 lend Zeixct
A: Do you play any musical instruments? A: Michelle, A THE[of| ZCHaHFAM DOFY,
B: Thanks for coming! Help to B: A 10k, 20l & S0ist
Some wine. help oneseif= (SA18) OIS SCf et 0| B8 EHOICE ol
(a) me ME Mool Lsts 222, helpll SX0{7F YRl MatEl x
(b) you 012! yoult Eotaz HlZtoll= XHHHHARR! yourself7t MEsICt,
(c) myself He2 ().
Help yourself (to) ~. (~S) 0t87Z EAR.
A: Hey, Jack. What's taking you so long? A: 0|8} Jack. of OIZA @2 Zai?
B: Sorry. I'll be ready a few B: Oj2ksl, & 20|H =,
minutes. - = o
HXIALInE DlHAIMIE B MY AL (MIXHRE) ~=0 o ez
&O_ f. I'll be ready O|20l= &H|7t € £% O[2HAIEO| 2foF 5l=2
(b) at 2 ~30F 9| &0l fore AMER| ch HE2 (a).
(c) on
(d) for
A: The taxi fare was quite expensive. A: BiAl 230] HF %o,
B: Yeah. We a bus. B: 8. HIAE &0} R0,
(a) can take EHA| 0] B 2tT Yooz HAE §Hofof Ot 2t Ligo|
(b) must take OlofMot AfiABCE 2k AtMofl ChEt $3l, OrSE (should+
(c) might have taken have +p.p.)2 LELE2 Y2 (d). ©= ~O0I%SK= 220k

= K22 A Aol et S SIS FES LEHADE

fare 22

IE
re

1 - Actual Test A
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17

18

19

20

A: The oil company said it has stopped the oil
leak in the ocean.

B: That's news!

(a) encouraged

(c) an encouraged
(d) an encouraging

A: Is the door locked?

B: Don't worry. | clearly remember
it.

(a) lock

(b) to lock

(d) locked

A: What did you do over the weekend?
B: My father and | went fishing, and we got a
lot of

(b) the fish
(c) fishes
(d) the fishes

A: Many African elephant populations have
declined over the last two decades.

B: Yes, there are only a few hundred
thousand

(a) remain

(b) remained

(d) have remained

A: You know, sometimes Steven is very
difficult to work with.

B: You're right. But he does
than anyone else in our company.

(a) work hard

(c) works hard
(d) works harder

Answer key

encourage= A2{siCt 12
encouragingS 2 HESISICt E5t newse A 4 GlE FAZ B
Cl

Aba/an glo| B T Fig Sta2 (b)7t HE.

f. L7h 2a] &Rl

AME & O SX0Z Folz SAEA,
s J|dsict of SOlx[B &

remembers to2YARt 5Y
= sfof &

S 7|98ict of sso| =t

\

toR AL @ of &
AL 0 aqof & A
i‘iﬁd WS 7|dsict of 50

~{D

o
ey e &

22 locking0| HE.
locked &A=

fishe HE4gol &

= =T

e . 2480 G2 gle8Z a fish,
many fishe| Ei7t 25 7ks3sict math (c)2t (d)= Eol & 4 el
1, o7 IM= £ 21715 7t2l7l= A0 OtLEE HeEtA the §lO|
alot of fish2 M= 70| &
go -ing ~3&t2f 7ict

A: OtZ2|7t F7|2| 47t K|t 207 ZEAGHRI0,

B: ot Ofx| & AR ofz|8fol FX| AU,
glI7tof= LHEY A9l a few hundred thousandS 4-Alctk= 20|

Qof Sh=E, remain2 Hrt 2t £o 2
remaining22 EHICH HES (b).
decade 10 a hundred thousand 4 &2t
remaining ol g2

Yo' 2 HRfZALR!

decline ZAsict

A: QUTOF JIBM Steven 20| Y5t7|7F SIS0,

B: 2ot SHX|2H 2= 22| 3AUM I SRECHE EAE| Y50
HMEO| UdtzAhwork) 2ofl does7t Ye=2 ZZ9| dodS Y
4 Mok Zx9| do Folle SAIF0| 2o S22 work7t AHGH
0, 217+ Fofl than0] Y222 hard (Z4l5))2| Hlg harder?t 2F
OF XMHotict, HE2 (o).



[Part 1]
21

22

23

24

25

26

Beginning next semester, every class in the

social sciences available online.

(b) are
(c) has
(d) have

| received little money from the investors,
my company went bankrupt.

(a) but

(c) for
(d) that

I chose to buy this computer instead of that
laptop because it was cheaper
and more reliable.

(a) more

(c) most
(d) very

After the mechanic
be as good as new.

my car, it will

(b) repaired
(c) will repair
(d) is repairing

These buildings months ago, but
the owners have not repaired them.

(a) damaged

(b) are damaged

(d) have been damaged

We should wear a helmet when we ride a
bicycle, we get in an accident.

(a) once

(c) unless
(d) while

L= ES dFH o

AlE| T8t B2 BE 2a0loR 08 4 Ut

HEARR! available (0 QAE)0| Lgteoz Hiztof
= beSAP HHESHH, F0{7t every class2 H40|22 is7t HE.
AloT2 Al 40 FEE OIXIX] &

o=

8% 4+

in the social sciencese 4~
20l Z=olatct,

St A O

social science Als| 115t available 0188t 4= A=

SEXREZRE =2 A9 2| 7| 201, L SlALE THISHCE

AZo 2rl= HIZh ROl BAIE melske Aol sttt Bizh ¢f
o 0| FXRIERRE ES 79| €A R = U80|=2 F
o mRMFCE ah= gt QloketAzE MRIECE wakA (0)7t 71E A
XS}F &
=2 -,

investor £AtAb  go bankrupt THtstct

Ol FFEES AZ|Z A=d|, <HitstH

NG oMz o gE 4 Q7] tZolck

AL U RIS s2lstn

xF

TS € ol

2= % & Hol

Aol & =+ A= RAk= (0)0[Th much

W o~

27| & d|wgQ! cheaper
£ even, far, still, alot St &7 HlmZ 20l 204

9 HBAIL BAlSl #4F

%o2 Hlugs ZxsiFEd, (d)2 verys
2 7=

S dxsinz MER| ¢t

laptop =EES[FHE] AFEH

rir

reliable 2g & !

L 22 A

N
My
njo
N
o
Inl

0] 0J2hAIM (will be)7t Q1 Ho@ O 0| 22|Z/X| 942 Al
HoS o 4 9lon afterz ARfGIS HS Alzto] HAN 022
olnjdoz nRfUxEtE HUAMES ARRslor Bict metd He

mechanic Hu|AL 218  as good as new AZ0|Lt CHESi=

rlo
o

a%s 194t

M

o

22|5Hx|

AR 2FS

I

g0l # Zo|m=z 4 et 2fof of

Ues= TAAHS!

I——

SEI be damaged
0, months ago2t= Fefst 174 AIFO| Liet
were damaged”} LSiCt

damaged &¢& #EE  repair s2[siC

Zool

Al7h Zofg cholsh dsE Z&siho Bitt.

U8Y A} 2 HSE

= chulal 2ol Mot Sich= Q|o|7t =ofof
KHAHREZ in case’t @’SOM in case= ~2| Z<0i CHulaf
2t= o2 o ZH|L HS0| LR ZR0] 220,

get in an accident Afot Lich

S - Actual Test A
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28

29

30

31

32

My mother seems for a while, so

I’'m taking her to the hospital.

(a) being sick
(b) to be sick

(d) to being sick

the plane crash was caused by aH
pilot error is unknown at this time. Qlct
(@) As
(c) Though
(d) What

The new accountant is John Thompson,

{07t S5 2t OFUE A

M3 AAE

ZOotM S0l 2AIT 7h= S0l

seem (seem+to do) FEZ M0 ~QI ZiXMY Ho|ck 2k= &
o MOIC} ETH toRHAILL STHAS| LIE0| S0SAIECH AIFe
1t401H 222! to have p.p.Lt having p.p. SEE ME=H| OFE
A seems=2CH 2719 YO|Z2 to have been sick0|2t1l {0F &
L} HEE (o).

=

~
h
o
Rl
K
)
B
ot
p
E
E

A=Xlof thslt g2 LXK

Z MA9] SAHE is0l0{ ... by pilot error7tX|7F F0{0|22 Izt
= F0I2 MOl YAEES olnE &AL 2fof BiCt (@)2F O &
o HSAIR "ol € 4 glo, gizt 0|59 Ho| st Holzz

SES A
what= ©0| & 4 QIch W84 1 HIE7| Fat A7t =EALS
TAOIUE=RT 2 siAE 4 o222 whether7t 7HE &E6iCH
2 ().

plane crash v|&#7] &2t Atn pilot ZFAL  error A1) 22

unknown =4x|x| k2

John ThompsonQlHl, 2= M T2e=2 124 0fael Z=0

has over 12 years of experience Qlct,
as a financial advisor. _ et
MEAZE John ThompsonO|xl, FEAENA hasel =0 Ses
SIEE FAAUEAL whot YUCH that= FARAHBEAIZ X
(b) that o UAX|EE ZOK, et e ASHSHME thats 2 4 gleB=2
(c) which ()= ol & =+ gick
(d) what accountant |7t financial advisor & 12
why he stole funds from the o AL 2 Azl XFE SR=Al HES YE o, 2 A= oFF
company’s bank accounts, the accountant LT SIA] LUCH
said nothing. ZE0| 2RI Holoz Hiziols TEASH FOIS MEE EARE
(@) To be asked SEW7L £ 4 ok FE| F0i0l the accountante H2E &2
Zol22 £5%0! Being asked’t MEsHH, 0IEEH EAES
(c) Having asked being2 Aatst 4 ooz AskedZ ME RsICH HEHS (b).
(d) Been asked bank account (0i2) 7zt

The hot weather kept me

for the marathon, so | don’t think | will win the NS

race.

(a) on
(b) in
(c) for

The man a pool of 3000

applicants, so he must be very talented.

Answer key

training M7t

300089| X|EAtE SolA EHReH, 2= i s U

LS o9 Ol2tE tid] 23S ofx| 37| 2ol 2 2F0iM 25
o A 2o

XA} from

2 MY Z 7t

(keep [stop/ prevent] +SZ{0f +from +-ing) 2| HEH
SHR| RotA| SiC 2t BRI S8 LIERCE
o2 SMZ Qs 22S oK RIICH 2t= 0|7t Z/ofof st22 (d)
7b 7K =t

keep A from B (-ing) A7} B3tx| 2517 5ict  marathon oi2tE

012l The man2 XIS S0iM EEl 2 0122 choose (MEk



33

34

35

36

37

(a) chose
(b) chose from
(c) was choosing

SiChel 50| 20k i, =5 SAH Foll AL SH0{7t HiZ 2
‘~E2 BE E5|oH 2t sfof 22 TXIAF fromE MA
was chosen from22 Ao} LSt

pool (Z&&) 0|8 75 ¢12  applicant XXl SAIXt  talented xif

s U
| found a house at a quite reasonable price, Lt= oie Zgst 71240 g 7Rt O Flo| o 7158 1 HeE2 =
but I'm not sure if the house is a 29| 2Xl= =R 2Lt
family in.

(b) enough big to raise
(c) big to raise enough
(d) to raise big enough

you wanted a new bicycle, | dizt A

would have bought you one for your birthday.

(a) I could've know

(c) Have | known
(d) I knew

Mrs. Johnson is
in the company.

all the managers

(a) the older than

(c) as older as
(d) as more old than

John wants to major in literature, but he
expects his father will demand he
something useful like business.

(b) studies
(c) will study
(d) studied

These days, of children begin
studying foreign languages while in
kindergarten.

(a) the number
(b) one number

(d) number

John2 Est2 T35H2 HSHRIT, 1= OMXI7H BYsIXE RES As
F

L
=Y,

enough= (enough + HAt+to2HAD E= (FZA/2At+enough
+ toR™AD9| HEHZ MOICE O{7|M= enoughZt SEARR! bige
+A5lE2 big enough to raisel| wA7} E0{oF gict HE2
(@)

reasonable (71z{0)) M&st HIMX| 42 raise 7|2Ct 7|12Ct

i RFHAE Boker] LAHH, Ul 4 ME=2 St AFRS Hid|,

E | t
Y e 2EYS € 4 AT mEtN if2ols thad+p.p.) SEK
7 If I had knownOl 2i0F Sh=0, 0] B ifE d2fsta 504,

EX|Z|0] Had | knownO[2tT & 4~ Qleo2 HE2 (b).

i<
-2

Johnson M= 2 2lAf #2|XE S0IM 71 Lo|7t BTt

Fdg2 F= Fof

of /in/that® 9| #=Alg #ot ‘~FofAf 7+

e (). @2l Hlug+than) FEfolM=

9| £ HHEHE

theE £ = g1, (€)2] as ~ as Al0|0ll= #Z0| 2tof ot (d)HE
as®} thanO| 71 A 4 GiCf

OH

Y, Mot HE, 27, AR S UEs SAILE @8ADF 2F
I2tee thatZlo] SAE JF0| A “~alio} Bicf
AJSIC} BIZE2 demand (R-siCh el SXEl stz
Rl studyE MO I

major in ~2 T35t

literature 25t demand 2+sict

552 0f210/S0| RAIY 1) 21201 Z26H7| KBt

'~9] ' 9| £20|0{, a number
2 of2lol

[y

numbers the number of 2 £ A2
of2 £ Z2 HU2(many) 9 S0l 07 |ME LIEA
£ 0l2t1 sHof XfetAR|RBE (c)7t ZES Holok

kindergarten <%

S - Actual Test A
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39

40

The employment consultant asked me some
questions to help me find the profession
| am best suited.

(a) who
(b) whom
(c) what

The professor couldn't answer my question,
and .

(a) neither his research assistant could
(b) could his research assistant neither
(c) his research assistant neither could

His being given a full scholarship to Oxford
shows he is.

(a) how smart boy
(b) what smart a boy

(d) how a smart boy

[Part Il]

41

42

(a) A: Did you find someone to fix our
computer networking problems?
Yes. He is the best IT consultant in the

city.

(b) B:

(d) B: It's going to cost a lot of money, but |

think it'll be worth it.

(a) A: The resort we are staying at has a full

spa and an 18 hole golf course.
(c) A: ltis. | just hope it doesn’t rain during
our trip.
(d) B: Well, the monsoon season is over, so |
think it will be sunny and warm.

Answer key

I uaE U HR0l gollE 4 et

208 c @2
Wz w®

[

228z
Wz o>

- 22| ZEEH A

: HIZ0| Lof

: =0| Bol

N
A
1]
Ao
)
o

MEAHE the profession (2, 21E)0|0,

S
pNp=2
(=

Flof HEAE 2 2
| am best suited for the profession0|22, EIZt0il= for the

professiong thilet= Z0[0{oF BiCh watA (d)Ql for which7t &

(=14
=H

x|of
TE

employment consultant

suited oiSels, XMEEh MEbt

ZAMEE  profession =2 Zi&

0

1, 39| AT R E5F HHE 4 QAUCE

232 Hol = o2 259 g0 o|ofE moils ~= ES OfL
Cf 2t= =02 (neither [nor] +(R)SAH+ 30 SEHZ LIEFH

I neitherLt nor Fol= HIEA| 0@t SAPE EX|2 Sefet=s 2
2 7|H5HAL (d).

research assistant o7 xu

o
RS

CBEAU RAS ZxE
(How + SBAI/ZAH+70{+ 54, BAPZ X Hol=
+a(n)+ BEAH+ BADO| Bl #rt boyi 4
what©2 AJSfts ZEH2 840| =0f what a
ot g2 (o)

full scholarship = Msiz

gt 2 szl & Al

2
0 T ZIMEEO}

id

2 aigkof?

S. Ol =AlIM 71

S

n
N
ol
a2
S
&l
L
a
3
AN

(X7} U 7ok

()0l how much Olat= know9| SHNHZ MCBR (QJRAt+
FOl+SAh FEIQ FEZE 0fx0l =lofoF St et how
much will it cost= how much it will cost7t £|0{0F St

cost (H80)) SCt  worth it 22t 7ix7t U=

e}t 21 YU BRES 21} 8EME| BT TAT} 0}

et mots =2

S 2| oig Z0| u7} O 22 B2 Folot

M, FOFEO| ZHOLIZE L MZI0ls Mt T THES 3 2ot

(b)ollA =01 it0] 7t27l= A

ZE= 20|22 relaxed (HOIEIS &
Z5)0] =|ojoF YSiCt
extremely 3=2, 33|

the resort@ld|, 2|=E= H

71E)7t Oz} relaxing (HOFSH
relaxing 0tSS =X5H siiFE, Hotst

the monsoon season 27|, Mok
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(a) A: Have you seen my calculator?

(b) B: No. You may have left it at school
again.

(c) A: Yeah; how will | finish my math
homework?

44 (a) A: How was the sales meeting, Chris?

(c) A: I'm sure it wasn't that bad.

(d) B: Well, one man at the meeting said it
was the worst presentation he had ever
seen!

45 (a) A: Hey, Sarah. My boss asked me if we
wanted to have dinner at his house
tonight.

(b) B: Oh, no. | don't like going to your boss’
house.

(d) B: But he talks so much that it gives me a
headache.

[Part V]

46

(a) I have traveled all over the world and have
found myself in many difficult situations.

(c) Unfortunately, | didn’t remember to
write down the hotel's name, and | got lost on
the way back. (d) | spent the night walking
around, trying to find my hotel.
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(a) Mega Corp is proud to announce that we (@) Mega oMz &7Mo|ln M2 =2 il s YastA| o] &t

have developed a revolutionary new flu ZAEA MZIEHLICE (b) MSHQ =2 #ASI= 22| MegaAte] M2
vaccine. (b) Unlike traditional flu vaccines, BAl MBS EALZ0| QigUC (o) 221 7HY SR8 A2, MegaAte] diAl
Mega Corp’s new vaccination has no side 2 2EH s RE Y HI0[2A FYCRRH S EasiEri=s AYY
effects. Ch (d) 22iL 25 <At BHLEMA, MegaAte] BidlE 29JotMIR,

(©)0ll A most important= HAIE F0l= 20| oLzl & 7H
f

(d) So contact your doctor today, s - ,
EQ6PIE 2le ez BY HAE sAlSkE RAZ AUCH w2t

and ask for the Mega Corp vaccine. ) )
most important tAl most importantly= MOF St

be proud to ~af= %S XZAEA K7|ct announce YHsICH o

2lct  develop 7H&5ict  revolutionary Sig[27|1%21  vaccine

(of=) Al protect A from B AZ B2ERE 255iCt  traditional
HMEXQI vaccination #Alol] HE  side effect £x(&  strain
(BA=-2Y 59) ZRIRE
(@) Gl(sweat lodge)2 SuXQl oAlo] #siX|= 0= HF0Io| H=S0|ch
(b) Eof LiRol= 20t 320 52 222 YR S5 AEa ALt BHE
(b) Inside the sweat lodge, a sauna is O QIC} (c) BEYSS walof @ AlZH SO OIQU=C} (d) =at oAl
created using fire and rocks heated to SN2 2EAS0| IS Y= 70| otn Z| AfetS 87| Jgfolct

extreme temperatures. (c) Tribal members
then sit in the lodge for long periods of time.
(d) The purpose of the sweat lodge ceremony
is to help tribal members purify their souls and
receive forgiveness for sins and
transgressions.
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(a) Bangkok, Thailand is famous for many
things, and one of which is its glittering
temples. (b) Perhaps the most famous temple
is Wat Phra Kaew, Thailand’s most famous
Buddhist temple. (c) This temple, over 200
years old, contains hundreds of buildings,
statues, and monuments.
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